Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

National Testing Agency

58 Law 25th June 2025 Shift 2
58 Law

2025-06-25 21:17:20

180

300

Yes

Law and General Paper

1
93806630

General Paper

93806663
1

Online
Mandatory
42

42

100

0

1
938066187
No



Question Id : 9380664575 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The following table shows the percentage (%) of girls who passed in an examination and the
percentage (%) of boys who failed in that exam in a school during the six years from 2018 to
2023. Based on the data in the table, answer the questions that follow.

Year-wise Result details of Students

Year Percentage of | Percentage of
Girls who Boys who
passed failed

2018 32% 40%

2019 42% 60%

2020 55% 25%

2021 40% 30%

2022 60% 50%

2023 42% 80%

Sub questions

Question Number : 1 Question Id : 9380664576 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following years did the performance of girls show maximum improvement as
compared to the previous year?

1.2019
2.2020
3.2022
4.2023

Options :

93806617801.
93806617802.
93806617803.
93806617804.

AW N —

Question Number : 2 Question Id : 9380664577 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in the year 2018, the total number of boys who appeared in the exam 1s 600, then what is the
percentage difference between the percentage of boys who passed and the percentage of girls who
passed 1n the exam?

1. 18%
2.23%
3.25%

4, 28%
Options :
93806617805. 1
93806617806. 2
93806617807. 3



93806617808. 4

Question Number : 3 Question Id : 9380664578 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in the year 2020, the total number of boys and the total number of girls who appeared in the
exam are 800 and 700 respectively, then what 1s the ratio of the total number of boys who passed
to the total number of girls who failed?

1.40: 21
2.154:201
3.18:11
4.7:10
Options :
93806617809. 1
93806617810. 2
93806617811. 3
93806617812. 4

Question Number : 4 Question Id : 9380664579 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in the year 2019, the total number of boys and the total number of girls who appeared in the
exam are 800 each, then what is the sum of the total number of boys and girls who passed in that
year?

l. 650
2. 656
3.662
4. 668
Options :
93806617813. 1
93806617814. 2
93806617815. 3
93806617816. 4

tn Lh

Question Number : 5 Question Id : 9380664580 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in the year 2023, the total number of boys and the total number of girls who appeared in the
exam are 1250 and 850 respectively, then the number of boys who failed is approximately
% more than the number of girls who failed in the exam.

1. 42.67
2. 81.53
3.89.77
4.102.84
Options :
93806617817. 1
93806617818. 2
93806617819. 3



93806617820. 4



Question Id : 9380664575 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
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2018 32% 40%
2019 42% 60%
2020 55% 25%
2021 40% 30%
2022 60% 50%
2023 42% 80%

Sub questions

Question Number : 1 Question Id : 9380664576 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 1 ¥ o9 av o sifaarsfl & R J 7d oy &1 go- § Faiide JuR fadrs odl g2

1.2019
2. 2020
3.2022
4. 2023
Options :
93806617801.
93806617802.
93806617803.
93806617804.
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Question Number : 2 Question Id : 9380664577 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e gy 2018 H UR1& & UFT o dcl STeidh| &1 Had TWAT 600 8, ol GRIE | Sl Il &
gfr=rd 3R gdien 9 Sl aifcrdradl & ufaeid & ol o1 ufd=id sidr &1 g2

1. 18%
2.23%
3.25%

4. 28%
Options :
93806617805. 1
93806617806. 2
93806617807. 3
93806617808. 4




Question Number : 3 Question Id : 9380664578 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gie qy 2020 H, Gef H UFT o+ dTdl STeidhl d Sifcidrail B dol T HH: 300 700 B, Al
uﬂwﬁéa?ﬂvfquﬁaﬂgm Gl & GL1el | siilof difeiabrafl ol gt dwear g siurd
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1.40: 21
2.154:201
3.18:11
4.7:10

Options :

93806617809. 1
93806617810. 2
93806617811. 3
93806617812. 4

Question Number : 4 Question Id : 9380664579 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gie qy 2019 H, GHe & UFT - dTdl STeidh| B ol ST 800 § d difeih 31 &l ot Hem of
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1. 650

2. 656

3. 662

4. 668
Options :
93806617813. 1
93806617814. 2
93806617815. 3
93806617816. 4

Question Number : 5 Question Id : 9380664580 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : (

gie qy 2023 H, Giel & YN o d1d STeid| 9 STfddbiail S S S U 1250 9850 8, dl
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AP B

1.42.67
28133
3. 80T
4.102.84

Options :

93806617817. 1
93806617818. 2
93806617819. 3



93806617820. 4

Sub-Section Number : 2
Sub-Section Id : 938066188
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 9380664581 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The term Andragogy refers to .

1. Childhood Learning theory
2. Adolescence Learning theory
3. Adult Learning theory
4. Self-directed Learning theory
Options :
93806617821. 1
93806617822. 2
93806617823. 3
93806617824. 4

Question Number : 6 Question Id : 9380664581 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UgriSll e Ul s
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4. @-FAdRE i Rigla
Options :
93806617821. 1
93806617822. 2
93806617823. 3
93806617824. 4

Question Number : 7 Question Id : 9380664582 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1s the assessment which may also be seen as informal.

1. Summative Assessment
2. Formative Assessment
3. Subject reviews Assessment
4. Observation Assessment
Options :
93806617825. 1
93806617826. 2
93806617827. 3
93806617828. 4



Question Number : 7 Question Id : 9380664582 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
93806617825. 1
93806617826. 2
93806617827. 3
93806617828. 4

Question Number : 8 Question Id : 9380664583 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rearrange the sequence to write a lesson plan

A. Lesson opening
B. Preplanning

C. Lesson Layout

D. Closure of Lesson
E. Extended practice

Choose the correct answer from the options given below:

D,C,AE, B

¥ 5
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4. B,
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Options :

93806617829. 1
93806617830. 2
93806617831. 3
93806617832. 4



Question Number : 8 Question Id : 9380664583 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806617829. 1
93806617830. 2
93806617831. 3
93806617832. 4

Question Number : 9 Question Id : 9380664584 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a teacher uses Lecture Method, then

A. Tt provides new information to the students.

B. It provides original research to the students which are generally not found in text books.
C. It can dramatize important concepts and share personal insights.

D. It is less effective method for promoting thought and changing students attitudes.

E. It deals with critical analysis and problem solving.

Choose the correct answer from the options given below:

1. A, B and C Only
2.B, C and E Only
3.A,B, CandE Only
4. A, D and E Only

Options :

93806617833. 1

93806617834. 2

93806617835. 3

93806617836. 4



Question Number : 9 Question Id : 9380664584 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806617833. 1
93806617834. 2
93806617835. 3
93806617836. 4




Question Number : 10 Question Id : 9380664585 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I
(Types of knowledge)

LIST-II
(Assessment Literacy)

An educator assesses student learning

A.|The purpose of assessment L. :
purp and content specific knowledge
Educators' intention with assessment
B.| What to assess 1L
data
. relates to the educator's purpose with the
C.| Assessment strategles III. PUIp
assessment
associated with the purpose of
D.|Interpretation and Action-taking I'V.| assessment and deep rooted in the values

and principles

Choose the correct answer from the options given below:

1. A-IIT, B-1IV, C-I, D-II
2. A-1, B-1I, C-IV, D-III
3. A1l B-I, C-III, D-IV
4. A-1V, B-1I, C-1, D-III

Options :

93806617837. 1
93806617838. 2
93806617839. 3
93806617840. 4




Question Number : 10 Question Id : 9380664585 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIL, B-1V, C-1, D-II
2. A-1, B-1I, C-1IV, D-III
3. A-IL, B-1, C-I11, D-1IV
4. A-1IV, B-11, C-1, D-III

Options :

93806617837. 1

93806617838. 2

93806617839. 3

93806617840. 4

Question Number : 11 Question Id : 9380664586 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a step in Scientific Research?

1. This is an ending aspect of science, with the process constantly being not repeated with

decreasing refinement
2. Casual observation of event/ phenomenon
3. Wonder/ curiosity about how, why, what etc.

4. Hypothesis (about relationship between two variables).

Options :

93806617841. 1
93806617842. 2
93806617843. 3
93806617844. 4




Question Number : 11 Question Id : 9380664586 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806617841. 1
93806617842. 2
93806617843. 3
93806617844. 4

Question Number : 12 Question Id : 9380664587 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘What is Normative Research?

1. Normative research proceeds from evidence to conclusion.

2. Normative research raises the issue in such a way that the conclusion is implied.

3. Normative research inquiry draws conclusion.

4. Normative research method of inquiry consists of posing a question or raising an issue,
collecting evidence and drawing conclusion from evidence.

Options :

93806617845. 1
93806617846. 2
93806617847. 3
93806617848. 4

Question Number : 12 Question Id : 9380664587 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
93PSO6617845.1
93806617846. 2
93806617847. 3
93806617848. 4



Question Number : 13 Question Id : 9380664588 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Mean (M) and Standard Deviation (S) of different datasets are given in A-D below. Compute the
coefficient of variation of each dataset and arrange in ascending order.

A . M=60,S=14
BM=70,5=16
C.M=80.5=5
D.M=90,S=4

Choose the correct answer from the options given below:

93806617849. 1
93806617850. 2
93806617851. 3
93806617852. 4

Question Number : 13 Question Id : 9380664588 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806617849. 1
93806617850. 2
93806617851. 3
93806617852. 4



Question Number : 14 Question Id : 9380664589 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the stages which may form part of a Research Proposal outline.

A. Data Fabrication

B. Methodology

C. Review of related literature or earlier studies
D. Specifying objectives

E. Stating Problem

Choose the correct answer from the options given below:

1. B, C, D and E Only
2. A Only
3.A,B,Cand D Only
4. A, C,D and E Only

Options :

93806617853. 1

93806617854. 2

93806617855. 3

93806617856. 4

Question Number : 14 Question Id : 9380664589 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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. $ddB.C.D 3RE
2. Had A Only
3. HId A, B, C 3R D
4. HAA A, C.D3IRE
Options :
93806617853. 1
93806617854. 2
93806617855.3
93806617856. 4



Question Number : 15 Question Id : 9380664590 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
(Books Title) (Authors)

Research Methodology: A step-by-step

=5 guide for beginners L |Ramsxoga

B.|Mass Media Research: An Introduction | II. |H.K. Dangi/ Shruti Dewen
C.|Business Research Methods I11. | Ranjit Kumar

D.|Research Methods IV.|Roger D. Wimmer/ Joseph R. Dominick

Choose the correct answer from the options given below:

1. A-IIT, B-1IV, C-1I, D-I
2. A-1, B-1I, C-1I1, D-IV
3. A-IV, B-1II, C-II, D-1
4. A-11, B-III, C-IV, D-1

Options :

93806617857. 1
93806617858. 2
93806617859. 3
93806617860. 4



Question Number : 15 Question Id : 9380664590 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. A-IIT, B-1V, C-II, D-I
2. A-1, B-11, C-II1, D-IV
3. A-IV, B-111, C-II, D-I
4. A-I1, B-1I1, C-IV, D-1

Options :

93806617857. 1

93806617858. 2

93806617859. 3

93806617860. 4

Question Number : 16 Question Id : 9380664591 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If there is fault in the mechanical or electrical channel, the free flow of communication will be
obstructed. This obstruction is taking place at what level?

1. At the transmission level
2. At the encoder level

3. At the decoder level

4, At the feedback level

Options :

93806617861. 1
93806617862. 2
93806617863. 3
93806617864. 4



Question Number : 16 Question Id : 9380664591 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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a1 9 1 9 T TR WR 81 381 gidl 82

. GO TR WX
2. Hhdd IR TR
3. faddhdd TR W

4. AP TR W
Options :
93806617861. 1
93806617862. 2
93806617863. 3
93806617864. 4

Question Number : 17 Question Id : 9380664592 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The teacher is teaching in a class of students. This can be the best example of

1. Face to face communication
2. Mass communication
3. Inter-Cultural communication
4. Group Communication
Options :
93806617865. 1
93806617866. 2
93806617867. 3
93806617868. 4

Question Number : 17 Question Id : 9380664592 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. 3TH- IH TR
2. 5 HdR

3. A idd YR
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Options :

93806617865. 1
93806617866. 2
93806617867. 3
93806617868. 4



Question Number : 18 Question Id : 9380664593 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per the book *The Five Cs of Cinematography’ by Joseph V. Mascelli, arrange the following
Cs in order of chapters given in the book (Starting from chapter 1 to chapter 5)

A. Camera Angles
B. Composition
C. Close-Ups

D. Cutting

E. Continuity

Choose the correct answer from the options given below:

1.LAE.D.C.B

2LARBCDE

3.B,CAED

4.C,A.B,D,E
Options :

93806617869. 1
93806617870. 2
93806617871. 3
93806617872. 4

Question Number : 18 Question Id : 9380664593 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806617869. 1
93806617870. 2
93806617871. 3
93806617872. 4



Question Number : 19 Question Id : 9380664594 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following are functions of the Mass Media?

A. Infrastructure- Building
B. Entertainment

C. Information

D. Tax- Collection

E. Advertising

Choose the correct answer from the options given below:

1. Aand D Only
2. A, B and C Only
3.B, C and E Only
4. B, D and E Only
Options :
93806617873. 1
93806617874. 2
93806617875. 3
93806617876. 4

Question Number : 19 Question Id : 9380664594 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9§ T o9 g1egd ({1t & $H-3H U DR gid 82
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4 few T fasb et # 1 91 SR I

1. Hdd A AR D
2. HAd A, B3R C
3. $dd B, C 3ARE
4. Had B, D 3RE
Options :
93806617873. 1
93806617874. 2
93806617875.3
93806617876. 4



Question Number : 20 Question Id : 9380664595 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-I1
(Directors) (Films)
A.|Orsen Welles I. |Stage Coach
B.|John Ford II. | City Lights
C.|Charlie Chaplin II1. [ Rear Window
D. [ Alfred Hitchcock IV.|Citizen Kane

Choose the correct answer from the options given below:

1. A-I, B-11, C-III, D-IV
2. A-IV, B-1, C-11, D-III
3. A-IV, B-1II, C-II, D-1
4. A-IIT, B-I1, C-1, D-IV

Options :

93806617877. 1

93806617878. 2

93806617879. 3

93806617880. 4

Question Number : 20 Question Id : 9380664595 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

= 5
AT I L (X9 SE
B.|SH Bls I1. |fqd digeq
c.|ardf Aftem 111 | R fadsT
D.|tdhs fgaadh Iv. | Ryfes &4
T ST 1T fdd el § U Ugl 3wk &1 94+ Difol -

1. A-1, B-II, C-IIL, D-IV
2. A-1V, B-1, C-11, D-III
3.A- IV, B-1II0, C-I1, D-1
4. A-II1, B-11, C-1, D-IV

Options :

93806617877. 1

93806617878. 2

93806617879. 3

93806617880. 4



Question Number : 21 Question Id : 9380664596 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below:
3,8,15,24,35,48,7

1. 62
2.65
3.63
4.73

Options :

93806617881. 1
93806617882. 2
93806617883. 3
93806617884. 4

Question Number : 21 Question Id : 9380664596 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3 Rl BT Udl U Sif (9 Saet O Uy fag (2) &I 9idd1iud & 9 |

3,8,15,24,35,48,?

1. 62
2.65
3.63
4.73

Options :

93806617881. 1
93806617882. 2
93806617883. 3
93806617884. 4

Question Number : 22 Question Id : 9380664597 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language:

“WHERE' is coded as: 3, 18, 5, 8, 23
‘DELHI’ is coded as: 9, 8, 12, 5, 4

How ‘HORSE"’ is coded in that language?

1.5 18,5 8. 20

2519 18 15 B

3.3 I1B: 198 15

4.0, 19 18,8 1
Options :

93806617885. 1
93806617886. 2
93806617887. 3
93806617888. 4



Question Number : 22 Question Id : 9380664597 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
DHIdUg He UNT I-
“WHERE’ @I 5, 18, 5, 8, 23 & U H dcdg [haI T g |
‘DELHI'®1 9, 8, 12, 5,4 b U peds [hal T B
JUYad UNT T ‘HORSE &l dds (bl SITUT:

Options :

93806617885. 1
93806617886. 2
93806617887. 3
93806617888. 4

Question Number : 23 Question Id : 9380664598 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Mohan can do a piece of work in 7 days working 9 hours a day and Shyam can do the same work
in 6 days working 7 hours a day. How long will they take to complete the job working together

and 8 % hours a day?

1. 3 days
2. 4 days

g |
3. 3 days
4. 5 days

Options :

93806617889. 1
93806617890. 2
93806617891. 3
93806617892. 4



Question Number : 23 Question Id : 9380664598 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Hig- U Hd Bl 9 b Ufdfdd 1 drd gU 7 e 1 i g 8k Wi 34l &1d &l 74
Hﬁfﬁﬁwaﬁéﬁ?ﬁw?ﬂa@:ﬁqﬁﬁﬁgéﬂ%ﬂﬁﬁwmﬁﬁﬁﬁwﬁ@

PP

1.3 ia'_‘[
2.4 iaq
3. 31 fe
4.5 ia:[
Options :
93806617889. 1
93806617890. 2

93806617891. 3
93806617892. 4

Question Number : 24 Question Id : 9380664599 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

X X

LIST-I LIST-II
(Question) (Answer)
I
A |If, x-}-l:Z,Then(x—— =7 E (&l
X X
If, x— y=1and x* +* =41 then
B. X+y=2 II. |2
1 1 .
C.|If |1-—|=2,thenl+—=7 III. |0
X ) x°
: I ) l r
D.|If ,\‘——J:3then,1"+ > = ? IV.|=9

Choose the correct answer from the options given below:

1. A-I, B-III, C-IV, D-1I
2. A-1, B-1I, C-1II, D-IV
3. AL B-1II, C-1, D-IV
4. A-III, B-IV, C-I1, D-1

Options :

93806617893. 1

93806617894. 2

93806617895. 3

93806617896. 4




Question Number : 24 Question Id : 9380664599 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

a1 I
%) @W)
|
A. uﬁ[x+l:2?ﬁ[.\:-—j:? I |11
X X
B uﬁ,'f—).*=l3ﬁ?x3+_1-'j=4l<_‘h o |
lx+y=1 '
A
c.|afq (l—l —2dl 14t =0 111 |0
- x) X
— —
D. ﬂﬁ*[;———}::ﬁﬁ X} 4—=7 V. |9
s x“
1 QU U fadedl H T gt Ik &1 994 HIfvU :

1. A-I, B-III, C-IV, D-II
2. A-1, B-11, C-IIL, D-1IV
3. AL B-III, C-1, D-IV
4, A-II1, B-1V, C-I1, D-1

Options :

93806617893. 1

93806617894. 2

93806617895. 3

93806617896. 4

Question Number : 25 Question Id : 9380664600 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A sum of money lent at compound interest for 2 years at 20% per annum would fetch T 482 more
if the interest was payable half yearly than if it was payable annually. Find the sum of money
lent.

1.% 15,000
2.3 13,000
3.2 18,000
4.% 20,000
Options :
93806617897. 1
93806617898. 2
93806617899. 3
93806617900. 4



Question Number : 25 Question Id : 9380664600 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fop el &I WR 2 a¥ o 1w ufdas 209 dehdfs s IR SR AU U 84 WR 7 482 3{f¥UdH
A g, aie &1l a1t 0 U ¢4 & Solid o419 3fgdiiNd 9 9 ¢d gl dl SYR gl 5
UENIBEIRIGGHIE

1.% 15,000
2.2 13,000
3.3 18,000
4.3 20,000

Options :

93806617897. 1
93806617898. 2
93806617899. 3
93806617900. 4

Question Number : 26 Question Id : 9380664601 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which fallacy is committed in the following statement - “God exists since it 1s written in the
scriptures. Since the scriptures are the words of God, whatever is written in them is true.”?

1. Hasty Generalization
2. Begging the Question
3. Red herring

4. Slippery slope

Options :

93806617901. 1
93806617902. 2
93806617903. 3
93806617904. 4



Question Number : 26 Question Id : 9380664601 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Faffad § 1491 ddb ¢y fdgaH 8-
"SR DT HETd ¢ RIfep T erefuiedl  foram gon 31 Jfes ey $aR 3t amoft 3, gufae san
ol $8 ferRaI g g Ta &2

1. fATRd GErdih o
2. YT G
3. YHAS Hdd

4. T Oe1gad eaH

Options :

93806617901. 1
93806617902. 2
93806617903. 3
93806617904. 4

Question Number : 27 Question Id : 9380664602 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. All poems are artworks.

B. No non-poems are non-artworks.
C. Some poems are artworks.

D. All non-artworks are non-poems.

Choose the correct answer from the options given below:

1. A, C and D Only
2. Aand B Only
3. Cand D Only
4. A and D Only

Options :

93806617905. 1
93806617906. 2
93806617907. 3
93806617908. 4



Question Number : 27 Question Id : 9380664602 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fAaferfad § O oH-a1 oyF aifde =P S gaF g2

A. Gl SIdard dardiadi gidl 3|

B. s W TR-Pfadr, IR-belidpfa =g gidl o
C. $F AT ST gIdl G|

D. g4l IR- s iaal, IR-HIdd gidl g

fid feu g fasbedl # 1 91 Sk I

1. $dd A, C 3R D
2. Had A 3R B
3. %Hdd C AR D
4. Hdd A3RD

Options :

93806617905. 1
93806617906. 2
93806617907. 3
93806617908. 4

Question Number : 28 Question Id : 9380664603 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that they can neither be true together nor can
they be false together?

A. All printers are computer peripherals.

B. Some computer peripherals are printers.

C. Some printers are not computer peripherals.
D. No printers are computer peripherals.

Choose the correct answer from the options given below:

1. Aand D Only
2.B and C Only
3. Aand C Only
4. A and B Only
Options :
93806617909. 1
93806617910. 2
93806617911. 3
93806617912. 4



Question Number : 28 Question Id : 9380664603 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafaRad 7 9 oiA- ufagftaul 39 veR a=fRid g fd d gHl ary-ary 3 d) b gl adbdl §
3R A &Hl 91Y-91Y 318 gl Yobdll 82

A. o flieR, YR URGRA A B |
B.@aﬂa@?ﬁﬁﬂﬂa e gld Bl
C. ©S fiex, HuIex URKG gl gid g |
D. ﬁélﬂfﬁamﬁﬁﬁﬂaﬂﬁsﬁmél
A feu ¢ fadedi o § TE SR I
|. ®hdd A 3R D
2. HaAdB AR C
3. Had A 3R C
4. Pdd A 3R B
Options :

93806617909. 1
93806617910. 2
93806617911. 3
93806617912. 4

Question Number : 29 Question Id : 9380664604 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of increasing intension.

A. Prose

B. Story

C. Short Story
D. Literary Work

Choose the correct answer from the options given below:

I.D:A B €
2.D.B,C.A
3.C,B.AD
4.C,A.B.D
Options :
93806617913. 1
93806617914. 2
93806617915. 3
93806617916. 4



Question Number : 29 Question Id : 9380664604 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ded Uy & vd ¥ RgfeRad & ogafiud sifse:

AT

B. el

C. AYH Yl

D. UIfgfdd ofd

fid feu g fasbedl # 1 91 Sk I

1.D.A B ,C
2.D.B.C.A
3.C,B.AD
4.C,A.B,D
Options :

93806617913. 1
93806617914. 2
93806617915. 3
93806617916. 4

Question Number : 30 Question Id : 9380664605 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Classical Indian School of Logic, the argument- ““Sound is eternal because it is
produced” is fallacious because:

1. It involves contradictory middle-term.
2. Here the middle term 1s too narrow.

3. Here the middle term is too wide.

4. Here vyapti is conditional.

Options :

93806617917. 1
93806617918. 2
93806617919. 3
93806617920. 4



Question Number : 30 Question Id : 9380664605 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U YR dh=IRd Hd & SR <l MYd g il I8 Sdd Dl il g~ i,
dBaIvgad ¢ Fifd:

1. S ATH HegHUS AT 6 |
2. i AL UG 3Afd Ghivi gl
3. il HIHYG AYH AP g |
4. T T JIUTY® g |

Options :

93806617917. 1

93806617918. 2

93806617919. 3

93806617920. 4

Question Number : 31 Question Id : 9380664606 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct physical address of a computer?

I.FC:F8:AE: 7B
2. FB: P . AF
3. F8:FA:7B:FC:16: 1B: AB
4 FE: PO AE TR 16:CE
Options :
93806617921. 1
93806617922. 2
93806617923. 3
93806617924. 4

Question Number : 31 Question Id : 9380664606 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Faffad 4 9 o491 fodl drger o g8l ardids 1gy g2

I1.FC:F8:AE: 7B
2.F8 :FC: AE
3.F8:FA:7TB:FC:16:1B: AB
4 F8:FC.AE:7B:16:CE
Options :
93806617921. 1
93806617922. 2
93806617923. 3
93806617924. 4




Question Number : 32 Question Id : 9380664607 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

www.ncert.nic.in in the following web address is called
http://www.ncert.nic.in/textbook/textbook.htm

1. DNS Server

2. Subdomain

3. Domain name

4, Uniform resources identifier

Options :

93806617925. 1
93806617926. 2
93806617927. 3
93806617928. 4

Question Number : 32 Question Id : 9380664607 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g ﬁfq i dq U,%ﬂ H www.ncert.nic.in @1 &l gl Wildl % .

http://www.ncert.nic.in/textbook/textbook.htm

1. 31 U9, U9 gk
2. JdSIHA
3. SMHA M

4. BT RS 312 SFEHIR (U Y14 UgdHddi)

Options :

93806617925. 1
93806617926. 2
93806617927. 3
93806617928. 4



Question Number : 33 Question Id : 9380664608 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the correct sequence of largest to smallest unit of Memory access time?

A. Millisecond
B. Picosecond
C. Nanosecond

D. Microsecond
E. Second

Choose the correct answer from the options given below:

1LED.C,AB
2.E.AB,C.D
3.E.A,D,C,B
4 E,C,D,A,B
Options :

93806617929. 1
93806617930. 2
93806617931. 3
93806617932. 4

Question Number : 33 Question Id : 9380664608 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRed o O o9 -0k Tay sy &1 f[axreay 9 dYdd db &I Ugl o g2

A. S s
B. U bdhg
C. HSHS

D. HIgh b S
E.ddhs

4 few T faab et # 1 9l SR 9

mmmm
Op o

-

Fo i =
=N-N-Ne
NNy
toto 9w

Options :

93806617929. 1
93806617930. 2
93806617931. 3
93806617932. 4



Question Number : 34 Question Id : 9380664609 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. Full duplex communication is bidirectional.

B. FM radio is an example of simplex communication.

C. Walkie- talkie is an example of full duplex communication.

D. In half duplex communication both devices can send and receive data at the same time.
E. A landline telephone is an example of half duplex communication.

Choose the correct answer from the options given below:

I.A,B,C,Dand E
2. C,D and E Only
3. Aand B Only
4. A, B and D Only
Options :
93806617933. 1
93806617934. 2
93806617935. 3
93806617936. 4

Question Number : 34 Question Id : 9380664609 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFAHfRad § U By HYd Id g2

A. Bd Skidy YR fGTd gl

B. U, UH. I41 Fwidy §dR &1 Uh IS8R0l

c. H"Hﬂ?ﬁtgﬂ gublcid YdR DI Udh 3GIeRU g |

D. §1t Gwidd YR H G SUHI ST B U gl T TR HT 3R W1 PR Fdl |
E. dSdlg el g% Sid HdR &l Udh 34150 g |

4 few T faab et # 1 9l SR 9

I.A,B,C,D3RE
2. Had C, D3R E
3. HId A 3R B

4. ®Hdd A, B3ARD

Options :

93806617933. 1
93806617934. 2
93806617935. 3
93806617936. 4




Question Number : 35 Question Id : 9380664610 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-II
(Electronic Device) (Properties)
A.| Wireless mouse I. |Reading of car number plate
B. | Optical mouse II. | Output device
C.|Liquid Crystal Display III. | Infrared light
D.|Optical Character Reader IV. [Radio waves

Choose the correct answer from the options given below:

1. A-IV, B-11I, C-II, D-I
2. AL B-1V, C-1I, D-1
3. A-IV, B-1, C-1I, D-III
4. A-IIT, B-II, C-IV, D-1

Options :

93806617937. 1

93806617938. 2

93806617939. 3

93806617940. 4

Question Number : 35 Question Id : 9380664610 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

A.| IR AI3Y I |®HR AR @ &I Ul
B.| 3ifPdd AIGY I1. | 3{T3CYT SUDBRI
C.|feplas fbted fsuw 1L | 34 RS e (URISTH U1
D.| 3V Hd Bidex s Iv. [¥f3ar 49
Id feu T fad el & U Igl 3R &1 99 Bifolu -

1. A-IV, B-IIL, C-II, D-I
2. A-IIL, B-1V, C-I1, D-I
3.A-IV, B-1, C-I1, D-III
4. A-II1, B-II, C-IV, D-1

Options :

93806617937. 1

93806617938. 2

93806617939. 3

93806617940. 4



Question Number : 36 Question Id : 9380664611 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about pure rain water?

A. Tt is naturally acidic

B. It is naturally basic

C. It is neutral (neither acidic nor basic)

D. It's pH value 1s 7

E. It is called as acid rain when pH becomes less than 5.6

Choose the correct answer from the options given below:

1. Aand E Only
2. C and D Only
3.B Only
4. C and E Only
Options :
93806617941. 1
93806617942. 2
93806617943. 3
93806617944. 4

Question Number : 36 Question Id : 9380664611 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafRgd © U S 91 S8 HYF Y 981 ofd & R T 9 §/8?

A. I8 WIHIfdd 30 ¥ g 3|
B. Ug WIHI[dP U HTURYI g |
C. g deRy (A 1 3%y, 7 81 SMYRYS) B

D. 3Y®I1 pH HH 7 B
E. S pH 5.6 Y &H &4 SIIdl g dl 34 37 98 & &4 H gl Slldl g

4 few T fasb et # 1 91 SR I

. Hdd A 3R E
2. Hadd C AR D
3. Hdd B
4. $Had C ARE
Options :
93806617941. 1
93806617942. 2
93806617943. 3
93806617944. 4




Question Number : 37 Question Id : 9380664612 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following steps of hydrological cycle water is purified?

1. Condensation
2. Precipitation
3. Evaporation
4. Transpiration
Options :
93806617945. 1
93806617946. 2
93806617947. 3
93806617948. 4

Question Number : 37 Question Id : 9380664612 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

STel AR I & FfRad 9Ro # ¥ fhaw ofd & URYS gl 82

1. 9944

2. AGEgu
3. g {H 0
4. Aol

Options :

93806617945. 1
93806617946. 2
93806617947. 3
93806617948. 4

Question Number : 38 Question Id : 9380664613 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The scale, which not only measures the intensity of earthquake but also its impact on people, is
known as

1. Richter Scale

2. Modified Mercalli Scale
3. Seismogram

4. Intensity Scale

Options :

93806617949. 1
93806617950. 2
93806617951. 3
93806617952. 4



Question Number : 38 Question Id : 9380664613 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3G A1l (Ihel) & (5 T O fbod U d SH1 91l g Sl 4 dhddd Yhd Dl dliddl ol J19- hd]
31U, AN IR IqP UG B 4l ATl g2

1. Raex Whal
2. UM ARGl Whd
3. Yy ol
4. dligdl Thd
Options :
93806617949. 1
93806617950. 2
93806617951. 3
93806617952. 4

Question Number : 39 Question Id : 9380664614 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LIST-I LIST-II
(Disinfectant byproducts (DBPs) of Chlorine) (Chemical Composition)
A.|Dibromochloromethane I. [CHBr,Cl
B.|Bromoform II. |CHCl,
C.|Bromodichloromethane I11. | CHBrCly
D.|Chloro form IV.|CHBr3

Choose the correct answer from the options given below:

1. A-1V, B-III, C-1, D-II
2. A-IV, B-II1, C-II, D-1
3. A-IIL, B-1IV, C-1, D-II
4. A-IIT, B-1, C-IV, D-II

Options :

93806617953. 1
93806617954. 2
93806617955. 3
93806617956. 4



Question Number : 39 Question Id : 9380664614 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

ﬂﬂ?%ﬁ\qﬁl?af:ﬁwm @&ty amm?:ﬁ];m

A.| SaHIGARI #YH I. [CHBr,Cl

B.| s II. |CHCl;3

C.|FHrSIZaIRI A 1L, | CHBrCly

D. |FARIBIH Iv.| CHBr;
+d faU T fadedl & § Ul IR &1 99+ Difole

1. A-1IV, B-IIT, C-I, D-II
2. A-1V, B-1II, C-I1, D-1
3. AL B-1V, C-1, D-II
4. A-III, B-1, C-IV, D-II

Options :

93806617953. 1
93806617954. 2
93806617955. 3
93806617956. 4

Question Number : 40 Question Id : 9380664615 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about moderator used in nuclear reactors?

A. Moderators slow down neutrons to sustain the chain reaction
B. Moderators stops the neutrons to control chain reaction

C. Without a moderator chain reaction would stop

D. Example of moderator is Graphite Rod

Choose the correct answer from the options given below:

1. Aand C Ounly
2.B and D Only
3. A, Cand D Only
4. B, C and D Only

Options :

93806617957. 1
93806617958. 2
93806617959. 3
93806617960. 4



Question Number : 40 Question Id : 9380664615 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

It Ta RugeRl 9§ wygad fadcd & Gy o [ 0 O #1901 98l g2

A. fatic® sRaar- bl &1 99T 3@ g, < Pl HiH R &d ¢ |
B. 4l ha1 i (AT B g f[aHad IS DI AH cd g
C. fariaed & fom1 oRkaetr ifiifchar b U

D. fdHe® &I Iae IBIFE B3 ol

fid feu g fasbedl # 1 91 Sk I

1. Had A AR C
2. $ad B 3R D
3.%dd A, C 3R D
4. ®Hdd B, C 3R D

Options :

93806617957. 1
93806617958. 2
93806617959. 3
93806617960. 4

Question Number : 41 Question Id : 9380664616 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Basic principles of “Integrative Learning Map™ is

1. Assessment, Examination and Faculty Development.
2. Faculty Development, Assessment and Civic Engagement.
3. Curriculum Development, Faculty Development and Assessment.
4. Curriculum Development, Bridging programs and Assessment.
Options :
93806617961. 1
93806617962. 2
93806617963. 3
93806617964. 4



Question Number : 41 Question Id : 9380664616 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
<gafbd A ufdfE & 9o Ri<id g:-

1. 3HidperH, U1 3R YHH- b |

2. U [ddh1, 3fida IR ARG Y|

3. UIeay| fah i, Yh f[admr 3R 3fidad|

4. gr&ad] fadbr, U (foish) dridd 3R sifhaH|

Options :

93806617961. 1
93806617962. 2
93806617963. 3
93806617964. 4

Question Number : 42 Question Id : 9380664617 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Lord Macaulay had written in his famous Minutes called “Macaulay Minutes™ in the year

1. 1853
2. 1856
3. 1846
4. 1835
Options :
93806617965. 1
93806617966. 2
93806617967. 3
93806617968. 4

Question Number : 42 Question Id : 9380664617 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“TehTel e & =10 Y 39+ Uiy e (@1dde) &l |18 Habral A 14 99 o forar or.--

1. 1853
2. 1856
3. 1846
4. 1835
Options :
93806617965. 1
93806617966. 2
93806617967. 3
93806617968. 4



Question Number : 43 Question Id : 9380664618 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following programme in order of their incorporation.

A. Achieving 100% literacy.

B. National Literacy Mission

C. Sarva Shiksha Abhiyan

D. NAEP [National Adult Education Programme]
E. Padhna Likhna Abhiyan

Choose the correct answer from the options given below:

1.E, A, B, C and D Only
2.D.B, C,Aand E Only
3.A,B,C,DandE Only
4.C,D, A, E and B Only

Options :

93806617969. 1

93806617970. 2

93806617971. 3

93806617972. 4

Question Number : 43 Question Id : 9380664618 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FfRad SRAHH! Bl I9d UR™ giH & hH H TR DIfoTT:-

A. X7 IfT=Id TI&RAT U DRl

B. IV H&RdT fRH

C. 9 e 3iftaE

D. U4. T. 3. Ul. Q191 ig Rien srddn)
E. YT feraT it

4 few T fasb et # 1 91 SR I

1. BAdE, A, B, C 3R D
2. $adD,B,C,A3RE
3. HAdd A, B,C,D 3R E
4. HAAC, DA E 3R B

Options :

93806617969. 1

93806617970. 2

93806617971. 3

93806617972. 4



Question Number : 44 Question Id : 9380664619 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the context of AI, NRF may consider a three-pronged approach. These are:

A. Advancing International research efforts to address global challenges.
B. Developing and deploying application.

C. Efforts to address global challenges through research.

D. Advancing core Al research.

E. Enhancing the knowledge regarding AI, NRF

Choose the correct answer from the options given below:

1. A, B and D Only
2. A, B and E Only
3. A, Cand D Only
4. C,D and E Only
Options :
93806617973. 1
93806617974. 2
93806617975. 3
93806617976. 4

Question Number : 44 Question Id : 9380664619 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U, 313, & G W, U4, 3[R, Uh. (HgfaRad f1- 3mardt 0T 31941 Tl §:-

A. RIS TMY & AT ¥ diYd gAIaa! D1 T SR BT Fa Sl
B. U 2ATTRT TN BT bR ST 2R TRFGISH BT

C. XY & Jr=y ¥ dfYd JHIfdal ST G- o34 & Wy

D. ol U. 3{3. MY Dl UYIR Bl

E. U 35, UH. 3R, Uh. § GHHd I &I 9614l ¢l

4 few T fasb et # 1 91 SR I

1.Hdd A, B AR D
2. Had A, B3R E
3. HAd A, C IR D
4. Had C,D3IRE
Options :
93806617973. 1
93806617974. 2
93806617975.3
93806617976. 4




Question Number : 45 Question Id : 9380664620 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-II
(Academic Body) (Year of Establishment)

A.INCTE I. |1961

B.|UGC I. 2017

C.INTA III. | 1956

D.|NCERT IV. | 1995

Choose the correct answer from the options given below:

1. A-I, B-III, C-IV, D-II
2. AL B-I, C-1I, D-IV
3. A-IV, B-1II, C-II, D-1
4. A-II, B-TII, C-IV, D-1

Options :

93806617977. 1

93806617978. 2

93806617979. 3

93806617980. 4

Question Number : 45 Question Id : 9380664620 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

crorgive from e
A T4 d S I |1961
B. (g, it . L. {2017
C.lea.dlu 1IL [ 1956
D. |tH. 9. 3. 3R. 4. IV.|1995
AId feu Y fadhetl & 4 Il SR &1 94+ Pifoll ;

1. A-I, B-III, C-IV, D-II
2. A-II1, B-1, C-1I1, D-1IV
3.A- IV, B-II0, C-I1, D-1
4. A-II, B-1II, C-IV, D-1

Options :

93806617977. 1

93806617978. 2

93806617979. 3

93806617980. 4

Sub-Section Number : 3



Sub-Section Id : 938066189
Question Shuffling Allowed : No



Question Id : 9380664621 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions:

The rule of the road means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed. When the policemen, say, at a road-crossing steps into the middle of
the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted
to a curtailment of private liberty in order that you may enjoy a social order which makes your
liberty a reality. We have both liberties to preserve- our individual liberty and our social liberty.
That is, we must have a judicious mixture of both. I shall not permit any authority to say that my
child must go to this school or that, shall specialise in science or arts. These things are personal.
But if I say that my child shall have no education at all, then society will firmly tell me that my
child must have education whether I like it or not.

Sub questions

Question Number : 46 Question Id : 9380664622 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

To preserve liberties of all, they should be

. withdrawn.

. selective.

. redefined.

4. reduced to a reasonable extent.

fad [od =

Options :

93806617981. 1
93806617982. 2
93806617983. 3
93806617984. 4

Question Number : 47 Question Id : 9380664623 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The author intends to tell that the rule of the road stands for

1. Public liberty
2. Private liberty
3. Liberty 1n a true sense of word
4. Individual liberty
Options :
93806617985. 1
93806617986. 2
93806617987. 3
93806617988. 4

Question Number : 48 Question Id : 9380664624 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



One needs to preserve one's

1. Individual liberty
2. Social liberty
3. Personal liberty
4. Both individual and social liberty
Options :
93806617989. 1
93806617990. 2
93806617991. 3
93806617992. 4

Question Number : 49 Question Id : 9380664625 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Selection of a school for the child study will be considered as

1. Personal liberty
2. Social liberty
3. Individual liberty
4. Collective liberty
Options :
93806617993. 1
93806617994. 2
93806617995. 3
93806617996. 4

Question Number : 50 Question Id : 9380664626 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The most suitable title of the passage would be

1. The Policeman at cross roads
2. The Road Laws
3. Importance of Liberty
4. The Children's Rights
Options :
93806617997. 1
93806617998. 2
93806617999. 3
93806618000. 4



Question Id : 9380664621 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

frafafad e o aeyrHYde ufer 9 3@ 1T wel & I ifve:

s & (A9 D1 31 g fb T2t Dl Wcd=Ad13il ol WRféd g g Udd &l WeAdrsi o
A d: Heldl B S| S O fddl IRTe W i Uferdil God & didi-did 3
3{UHT BT WS Rl g ol g FRG AT &1 gl U Ic=dl &1 Udid giai g | 3 il
A DI Dkl Pl WIDR Hl g difdy 317 Ul efoid SHawiT & 3 o b Sl D!
A DI gAY 41T 81 8 31U AR W=l 3R gAR] S WaAdl- Gl
AT BT TR D31 g | 314iq, g &Il BT fdddamd withyur anigu | 7 ol uiftia R
D1 Ug g I AN ! & b TR T &l 59 g1 39 [dgq1erd H SIH1 g1 g1 98 {97 A
31 el H [ARNIdr U ST | Y diof SAfdaiTd 8 | IRed afé & 98 &g (& BRI =1 hls
21811 <11 81 g1, I TS T3 Tgdiydd gg Sd1e o d1g U3 ude gl 31ydl 181, TR &= hi
TRrem ggur -1 gl gl

Sub questions

Question Number : 46 Question Id : 9380664622 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gl Pt TdAarai & W& 3 I

1. A19Y o ferar ST 91igu|

2. IUATHS gIFT dIigu]|
3. O GRYINT fhar ST =g |
4. I AITd IIH1 dh & H fod1 ST d1igu|

Options :

93806617981. 1
93806617982. 2
93806617983. 3
93806617984. 4

Question Number : 47 Question Id : 9380664623 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DS BT ARA g SaHl ¢ (b Yo & Fod g ede:

1. gidSiie WdAdl
2. TSl T
3. 316G & Yol A H Wd=d
4. AT dAdl
Options :
93806617985. 1
93806617986. 2
93806617987. 3
93806617988. 4




Question Number : 48 Question Id : 9380664624 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
oH 9 J O foud dramr & saxusdi g2

1. AT ¥ddadl
2. ST WadAdl
3. RN dAdl
4. AT 9 GHAMSD Wdadl, Gl &I
Options :
93806617989. 1
93806617990. 2
93806617991. 3
93806617992. 4

Question Number : 49 Question Id : 9380664625 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o= @) Rie gd faeaa & =94 & g & O @ aF1 S

. AfddITd IddadI
2. TSI Tl
3. AddITd [dadl
4. U¥fgd WdAd

Options :

93806617993. 1
93806617994. 2
93806617995. 3
93806617996. 4

Question Number : 50 Question Id : 9380664626 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3 TR b Yal¥d Iugad 2N g H 9§ &1 g

1. IRTg R Gferadaf
2. gSdh & gH
3. GdAd $T Hgd
4. 9l & AUDBR
Options :
93806617997. 1
93806617998. 2
93806617999. 3
93806618000. 4

Law
Section Id : 93806664



Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 938066190
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9380664627 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following case, the Supreme Court of India gave a split verdict on 2314 July, 2024
in a matter involving health, environment and intergenerational equity?

1. M.C. Mehta v/s U.O.I
2. Animal Welfare Board of India v/s U.O.1
3. ML.K. Ranjitsingh v/s U.O.I
4. Gene Campaign v/s U.O.I
Options :
93806618001. 1
93806618002 2
93806618003. 3
93806618004. 4

Question Number : 51 Question Id : 9380664627 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafRad ° O fog amd # YRd & I=gdd - - W, Ggidu] 3R UG ald®
HHAT & A1 § 23 S, 2024 $i U WiSd (i fear.

1. UH Il Hgdl 9919 HRd 99
2. YR U ™Il 96 &1 HRd Y
3. TH. &, ¥oiid 1&g 9919 YRd 99
4. S S 9911 YRd 99
Options :
93806618001. 1
93806618002. 2
93806618003. 3
93806618004. 4




Question Number : 52 Question Id : 9380664628 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Canadian Legislation does not have provisions related to Federation?

l. Law of Federation, 1802
2. British North America Act, 1867
3. Constitution Act, 1982
4. Constitution Act, 1867
Options :
93806618005. 1
93806618006. 2
93806618007. 3
93806618008. 4

Question Number : 52 Question Id : 9380664628 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HIST o Fgfeiad # U foy faur § Yuarg I 9eita 3udy 981 o

1. gfEH fafe, 1802

2. fafe=r AT smRe ude, 1867
3. dfaer sifefay, 1982

4. dfayr sifafaa9, 1867

Options :

93806618005. 1
93806618006. 2
93806618007. 3
93806618008. 4

Question Number : 53 Question Id : 9380664629 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

H and W are married, H filed petition for divorce that was granted in his favour by the family
court, when H cannot remarry again?

1. When there is no right of appeal against the decree
2. When the time for appeal has expired

3. When an appeal filed was dismissed

4. When the divorce decree was stayed

Options :

93806618009. 1
93806618010. 2
93806618011. 3
93806618012. 4



Question Number : 53 Question Id : 9380664629 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

H 3R W &I fddg g3l g | 1  fddIg [dwie &1 Uifad! ukdd ol [S9 Heta aried gR]
34D U ¥ Widhd a1 g1 {69 a2 o g g: fadrg 481 Hr Yl 3

1. 51 f&p! & fae 31did oA &1 Bl AUDBR Aol gl

2. 9 YT HIH BT YT 3G Bl IDI 8l |

3. O GRIR I 715, 3(UTd WIS gl 115 ol |

4. 1 foarg-fa=se & vl W U™ gRI S () T far T gl

Options :

93806618009. 1
93806618010. 2
93806618011. 3
93806618012. 4

Question Number : 54 Question Id : 9380664630 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followiing Amendment has inserted the theme ‘Secularism, Socialism and Integrity’
in the Preamble of the Indian Constitution?

1. 44™ Amendment
2. 428 Amendment
3. 73" Amendment
4. 74" Amendment
Options :
93806618013. 1
93806618014. 2

93806618015. 3
93806618016. 4

Question Number : 54 Question Id : 9380664630 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faferad | ¥ g I3y I2eE gRI YR & Siey &1 SeRieT H dyf-RueErs,
THSAIG 3R 3RAVSAr dI 3id: U fddr 1am

1. 4491 TRMEH
2. 4291 YMEE
3. 7391 LMY
4. 7491 TLNeH
Options :
93806618013. 1
93806618014. 2
93806618015. 3
93806618016. 4



Question Number : 55 Question Id : 9380664631 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘X" an insane person kills ‘Y’ by firing from a loaded gun, ‘X’ has committed which of the
following offence?

1. No offence at all

2. An offence of grevious hurt

3. An offence of murder

4. An offence of culpable homicide not amounting to murder

Options :

93806618017. 1
93806618018. 2
93806618019. 3
93806618020. 4

Question Number : 55 Question Id : 9380664631 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fbdl a1 U O faférd (arTe) oafdd x 9 Tiefl 490 g dab 9 v 14 ufdd o wiefl
Idls o | 1 38 Fd B fob x A FHgieiiad § 9 ST UR1Y-BIRd fhar gl

1. Bls URTY B eI fhar g
2. TR IUgld &1 U1y HIRkd fhar g
3. B B 3URTY HINA [HAT 5|
4. ITURTFH HFGTY BT SAURTY HIR HaT 8 o g1 & Jed el ¢
Options :
93806618017. 1
93806618018. 2
93806618019. 3
93806618020. 4

Question Number : 56 Question Id : 9380664632 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When did Ministry of Environment, Forest and Climate Change notify Biological Diversity
Rules, 20247

1. 25% December, 2024
2. 187 anuary, 2024
3. 1% April, 2024
4. 22" October, 2024
Options :
93806618021. 1
93806618022. 2

93806618023. 3
93806618024. 4



Question Number : 56 Question Id : 9380664632 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TfaRUl, 9 3R Sddry URadH HAed | Sid fafaerdr Faamae, 2024 3 FHafaiad 3 9 fag
ARG &I UIad= &1 SHgEHT SIRT $I?

1. 25 fedeR, 2024
2. 18 SHaRl, 2024
3.1 3fUd, 2024
4.22 AR, 2024
Options :
93806618021. 1
93806618022. 2
93806618023. 3
93806618024. 4

Question Number : 57 Question Id : 9380664633 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the guiding principle of inheritance under Mitakshara?

1. Religious efficacy
2. Capacity to perform religious obligations
3. Doctrine of sapinda relationship
4. Capacity to offer religious obligations
Options :
93806618025. 1
93806618026. 2
93806618027. 3
93806618028. 4

Question Number : 57 Question Id : 9380664633 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ArdIerT & Siqvid FRfeRad o U @1 dRe! &1 Arfexil Rigid g2

1. YT &HdT (THIfad)

> TP qIid@l (@) & Hdg &Hdl
3. gits YdY o1 gid

4. T SIfd@ O &1 &HdT

Options :

93806618025. 1
93806618026. 2
93806618027. 3
93806618028. 4




Question Number : 58 Question Id : 9380664634 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not the meaning of the term “dominant position™ under the
Competition Act, 2002?

1. Position of strength

2. Operating independently of competitive forces
3. Cartel activity among competitors

4. Affect its competitors or consumers in its favour

Options :

93806618029. 1
93806618030. 2
93806618031. 3
93806618032. 4

Question Number : 58 Question Id : 9380664634 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FaferRad & O g ufcegsl sfefaam 2002 & el gy Rl Ug &1 w91 o2

1. HHAIRA] &1 del Tl

2. Ufaegelf el o1 Waid Y U SRIGHR]

3. yfawafefal & A1 yRuY (@1dd) drisbam

4. 3 Uioafeal 3ryar IuHiadrei &1 UHIad &= 394 Uel H &A1

Options :

93806618029. 1
93806618030. 2
93806618031. 3
93806618032. 4

Question Number : 59 Question Id : 9380664635 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the Article of the Geneva Conventions of 1949 is called ‘mini convention within the
conventions™?

1. Article 2
2. Article 3
3. Article 4
4. Article 5

Options :

93806618033. 1
93806618034. 2
93806618035. 3
93806618036. 4



Question Number : 59 Question Id : 9380664635 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ay 1949 & G4l YT & by s(dwde $I Higual & R a9 ity (@ ddee)
CARIRIRART I,

1. 3G 2
2. 334 3
3. 3wiq 4
4. TG 5
Options :
93806618033. 1
93806618034. 2
93806618035. 3
93806618036. 4

Question Number : 60 Question Id : 9380664636 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following provision of the Companies Act, 2013 identifies shares and debentures as
a movable property?

1. Section 44
2. Section 45
3. Section 46
4. Section 47

Options :

93806618037. 1
93806618038. 2
93806618039. 3
93806618040. 4

Question Number : 60 Question Id : 9380664636 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ul UFTH, 2013 & (U IUY H YWR 3R BUYAT & Id YUl AT 741 g2

1. YIRT 44
2. YT 45
3. °URT 46

4. YR 47
Options :
93806618037. 1
93806618038. 2
93806618039. 3
93806618040. 4




Question Number : 61 Question Id : 9380664637 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a theory of legal personality?

1. Fiction theory

2. Concession theory

3. Interest theory

4. Bracket theory
Options :
93806618041. 1
93806618042. 2
93806618043. 3
93806618044. 4

Question Number : 61 Question Id : 9380664637 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafeiRaa 7 O 71 fafes afeaa (@ fima wiRferd) fsia g g2

1. dIcdFd Rgid
2. g fggia
3. fgd Rrgia
4. DI¥D (gid
Options :
93806618041. 1
93806618042. 2
93806618043. 3
93806618044. 4

Question Number : 62 Question Id : 9380664638 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following case, the Supreme Court of India struck down section 66A of the
Information Technology Act, 2000 as unconstitutional?

1. Shreya Singhal v/s U.O.I

2. Ajay Canu v/s U.O.I

3. Tata Cellular v/s U.O.I

4. Supreme Court Bar Association v/s U.O.I

Options :

93806618045. 1
93806618046. 2
93806618047. 3
93806618048. 4



Question Number : 62 Question Id : 9380664638 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FrafaRad ¥ ¥ foy amd 8 YRd & Sw=dd AR - -1 Uit sif¥f=[d, 2000 1
URT 66 DI AFIYDH HIR ool §U R B [&a1

L. 941 [9d 9911 HRd 99
2. ST DI §-H HRd HY
3. 2T Yoy eR &9 YRd I
4. IgqH Oy fAfed U 44 YRd 9y
Options :
93806618045. 1
93806618046. 2
93806618047. 3
93806618048. 4

Question Number : 63 Question Id : 9380664639 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following Reports of the Law Commission of India supported/recommended
the inclusion of irretrievable breakdown of marriage as a ground for divorce?

1. 73" Report
2. 72% Report
3. 715" Report
4. 70™ Report
Options :
93806618049. 1
93806618050. 2

93806618051. 3
93806618052. 4

Question Number : 63 Question Id : 9380664639 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR fafe 3 &1 fod RUie § ST 3 suiduguii/gRiiuy § R & 6 fdwse ol
faarg-fawyg &I MUR A SF &1 YA fHara R ol

1. 7391 UfddgA
2. 7291 ufddaA
37191 Ufddgd
4. 7091 Ufadg
Options :
93806618049. 1
93806618050. 2
93806618051. 3
93806618052. 4




Question Number : 64 Question Id : 9380664640 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“International law is the body of rules and principles of action which are binding upon civilised
states in their relations with one another”. This definition is attributed to whom of the following?

1. Oppenheium
2. J.L. Briely

3. J.G. Starke

4. Jerry Bentham

Options :

93806618053. 1
93806618054. 2
93806618055. 3
93806618056. 4

Question Number : 64 Question Id : 9380664640 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3RSt fafe FgaTacdt iR dRar Risid i defd/Mar § 3k ug 9 I=al & b gt
& Ty Gy S AW H SR 81 Suad uRu Fefafad # € e gri T %

L. 3AgAegH
2., Tal. faredt
3. Sl. Gil, Wd
4. o o>y

Options :

93806618053. 1
93806618054. 2
93806618055. 3
93806618056. 4

Question Number : 65 Question Id : 9380664641 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“True subject matter of ownership in all cases is a right”. Who gave this statement?

1. Grotius

2. Roscoe Pound

3. Salmond

4. Thering
Options :
93806618057 1
93806618058. 2
93806618059. 3
93806618060. 4



Question Number : 65 Question Id : 9380664641 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gl g1l ¥ w@ifiid & dRdfds fdwg oy SfIeR g1»
g (afafad ¥ 9 fogat Hy 3

1. TR
2. IHI USS
3. UdHH

4. 3g

Options :

93806618057. 1
93806618058. 2
93806618059. 3
93806618060. 4

Question Number : 66 Question Id : 9380664642 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not true in the context of a promissory note?

1. It must be in writing and signed by the maker.
2. There must be an undertaking or promise to pay.
3. Such a promise must be conditional.
4. The promise must be in respect of payment of money only.
Options :
93806618061. 1
93806618062. 2
93806618063. 3
93806618064. 4

Question Number : 66 Question Id : 9380664642 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g9+ ud & e H FMgfafad § 9 &9 91 o34 7Ted g2

1. gg 3Harid: faRad ©u ¥ g1 digy 3R dd4ddi gRI g&il&Rd giH dligt |
2. 59H IR 3Gl B &1 99 &1 S difgu|

3. 34 g B 94+ AHdrdd: 92Ud gl dligu|

4. a9 Fad: dad Y4 @I Uergift & e J g1 d1fgu|

Options :

93806618061. 1
93806618062. 2
93806618063. 3
93806618064. 4




Question Number : 67 Question Id : 9380664643 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following case, the apex court of India issued fourteen directions to the Union
and State Government to ensure complete eradication of manual scavenging and hazardous
cleaning?

1. Anoop Baranwal v/s U.O.I
2. Govt. of NCT of Delhi v/s U.O.1
3. Adivasis for Social and Human Rights Action v/s U.O.I
4. Dr. Balram Singh v/s U.O.I
Options :
93806618065. 1
93806618066. 2
93806618067. 3
93806618068. 4

Question Number : 67 Question Id : 9380664643 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfRId H ¥ {69 UHul H§ YR & I=9d9 Iad A &8 WRER 3R 59 WEHRI I RR
TR Ul G4 DI U1 9UT URYH Y YBT3 & gul I Yol digg (He= SRl fbu;

1. 3[4 §-dTd 9419 YRd 94
2. fereedl TP AGIYTH &7 WHR T HRT I
3. YIS 3R AFAIYSR HRATS & I AMGIRRT 11 HRd J9
4. 31, IR R{¥ig 991 YR 99
Options :
93806618065. 1
93806618066. 2
93806618067. 3
93806618068. 4

Question Number : 68 Question Id : 9380664644 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The foundation of Federation in India was laid down by which legislation from the following?

1. Government of India Act, 1919
2. Government of India Act, 1935
3. Constitution of India, 1950
4. Queen Proclamation of 1875
Options :
93806618069. 1
93806618070. 2
93806618071. 3
93806618072. 4



Question Number : 68 Question Id : 9380664644 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR § UG ga®il &t Hiq [AgfcRad H 9 &9 [AUH & HGeRasy 39! 7152

1. R e SHfEad, 1919
2. YR A g, 1935
3. YR W4, 1950

4. AT DI LY, 1875

Options :

93806618069. 1
93806618070. 2
93806618071. 3
93806618072. 4

Question Number : 69 Question Id : 9380664645 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is incorrect statement in the context of the characteristic features of a
Wagf?

1. Waqf properties are inalienable

2. A testamentary Waqf is irrevocable

3. A Wagf once created cannot be revoked
4. A Waqf property vests in God

Options :

93806618073. 1
93806618074. 2
93806618075. 3
93806618076. 4

Question Number : 69 Question Id : 9380664645 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gdp Bl AHEOD faRNarsil & eH H FgiciRad 7 U &1 91 HY- 7Ted o

1. 9% B U AT g

2. g 9% Sufduguig g

3. Uh 9R 9% &l oI gl Sl & U 39 Uldded -Ig! [har S adhdi gl
4. 99 B HURT 4R (3Meelg) Pl

Options :

93806618073. 1
93806618074. 2
93806618075. 3
93806618076. 4




Question Number : 70 Question Id : 9380664646 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

On which date the United Nations Organisation came into existence?

1. 20" October, 1945
2. 24t October, 1945
3. 10! December, 1948

4. 10™ December, 1945
Options :
93806618077. 1
93806618078. 2
93806618079. 3
93806618080. 4

Question Number : 70 Question Id : 9380664646 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ugad Y Y FEfaRad 7 9 {6 aria & 3ifEda 7 2mEn

1. 20 AR, 1945
2. 24 AR, 1945
3. 10 faOwa?, 1948
4. 10 &R, 1945

Options :

93806618077. 1
93806618078. 2
93806618079. 3
93806618080. 4

Question Number : 71 Question Id : 9380664647 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following provision of the Partnership Act explains the evidentiary value of entries
in the Register of Firms?

1. Section 65
2. Section 66
3. Section 67
4. Section 68

Options :

93806618081. 1
93806618082. 2
93806618083. 3
93806618084. 4



Question Number : 71 Question Id : 9380664647 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

grEie e & {69 Sudy § ufagrl & Wore: § ufafpal & yeasRl Hgd @) i
T HI TS o

1. YIXT 65
2. UIRT 66
3. YURT 67

4. YT 68
Options :
93806618081. 1
93806618082. 2
93806618083. 3
93806618084. 4

Question Number : 72 Question Id : 9380664648 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The power of judicial review was first adopted/applied by the Supreme Court of USA in which of
the following case?

1. Marbury v/s Madison

2. North Wales Police v/s Evans
3. Minerva v/s State of Georgia
4. Reg v/s Home Secretary

Options :

93806618085. 1
93806618086. 2
93806618087. 3
93806618088. 4

Question Number : 72 Question Id : 9380664648 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad d 9 fby ushrul 8 Ggad Iy ARSI & S=dd A/ gRI Ugdl dR A1fld
gHile 1 fTfieR fdar mansEunT fdbar T

1. ARER oH9F AfgaH
2. A1 9 gfery S99 Uy
3. {8Rar S99 Sl asg
4.0 94 78 giad
Options :
93806618085. 1
93806618086. 2
93806618087. 3
93806618088. 4




Question Number : 73 Question Id : 9380664649 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is a landmark case on the importance of ‘nationality’?

1. North Sea Continental Self Case
2. Asylum Case
3. S.5. Lotus Case
4. Nottebohm Case
Options :
93806618089. 1
93806618090. 2
93806618091. 3
93806618092. 4

Question Number : 73 Question Id : 9380664649 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafafed 7 ¥ fod Agayul e # APIAr & Agd bl I9R fha1 T

1. A1 @ SHed b YDl
2. URTCRAMT Yol

3. QY. U, dley UdHRl

4. AledigH Yol

Options :

93806618089. 1
93806618090. 2
93806618091. 3
93806618092. 4

Question Number : 74 Question Id : 9380664650 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :

Which of the following is not true in the context of CSR?

1. CSR Commuttee should consist of only one Director
2. CSR provision was introduced by the Companies Act, 2013
3. Company should spend atleast 2% of average net profits made during the immediately
preceding 3 financial vears
4. CSR is an implied agreement between the company and society to impart goods and services
in some way advantageous to the society
Options :
93806618093. 1
93806618094. 2
93806618095. 3
93806618096. 4



Question Number : 74 Question Id : 9380664650 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DHRUNCE HINS alldd & Ya H Mifdd § U I 91 &Y TTdd o2

1. PRURCS NS it IiAfd # $ad U FGRd giFr 9iigu|

2. DRURE IS GG ST U hy-T AT, 2013 T GF:2410d fdhar |

3. HUH I 31 ggadf 3 f<ig auf & GRM U 319d H9d aH HTHH A FH 2%
HRURE YHITS® I R o0 ST 1|

4. HRURE YHIFID Gl YA & ot fodt 0 H diyeRl gH & wioHrd Ard 3R
4T D UGN & el ST 3R JHS & A MR PR 5|

Options :

93806618093. 1
93806618094. 2
93806618095. 3
93806618096. 4

Question Number : 75 Question Id : 9380664651 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not defined under section 2 of BNS, 2023 and Chapter II of IPC, 1860?

1. Animal
2. Person
3. Child
4. Women
Options :
93806618097. 1
93806618098. 2
93806618099. 3
93806618100. 4

Question Number : 75 Question Id : 9380664651 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 1 U ®F YR A/ 9igdT 2023 $1 4RI 2 3R HRAY 019 gl 1860 & U6 2 H
ORI 81 82

1O
2. Afdd
3. dd]]

4. Hfge

Options :

93806618097. 1
93806618098. 2
93806618099. 3
93806618100. 4



Question Number : 76 Question Id : 9380664652 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Christian Man X and a Hindu Girl Y eloped and entered into an “Agreement of Marriage™ on
%50 stamp paper and registered it at Registrar office. They exchanged garland, X tied a
Mangalsutra around neck of Y. Is it a valid Marriage?

1. It is a valid marriage as it is registered by agreement
2. It 1s valid marriage as ceremonies are performed
3. It is not a valid marriage as legal validity test is not complete
4. It 1s a valid marriage as customary rites of the parties were followed
Options :
93806618101. 1
93806618102. 2
93806618103. 3
93806618104. 4

Question Number : 76 Question Id : 9380664652 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DI 24Ts oY X AR fgg dgd! v = IRER Ygdid ¥ YFT I 50 0T & T TR R {948
D HIRATN W EIER B 34 Usiidd (ISRER) & STy H Usiidhd Haml| 3giH Uh
Wﬁﬂlﬂyﬂ]m AR XAy & 7Tel § WA Fi4T1 24 721 & YR TR d1d D [ &l
gg fafemrg go

1. gg Tl faarg ¢ wifd Igaid U SHb! ASIHR01 g3 |

». g Tt faare ¢ |ifd YHARIEId fdhal T gl

3. g fafemr=a =11 ¢ ife fafde araar wdiemr w1 =gl g3 gl

4. gg fafemry faarg g il aiHl UeidRl & URURS 3 AHU U g

Options :

93806618101. 1
93806618102. 2
93806618103. 3
93806618104. 4




Question Number : 77 Question Id : 9380664653 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Article is referred to be the heart and soul of the Indian Constitution?

1. Article 32
2. Article 21
3. Article 14
4. Article 226
Options :
93806618105. 1
93806618106. 2
93806618107. 3
93806618108. 4

Question Number : 77 Question Id : 9380664653 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafaied o U fhy s=be ®l URd & iU S 3T ST STl 82

1. wdG 32
2. 334 21
3. 3=dq 14
4. 3Iw5G 226

Options :

93806618105. 1
93806618106. 2
93806618107. 3
93806618108. 4

Question Number : 78 Question Id : 9380664654 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What does ‘injury’ mean under section 44 of IPC, 1860 and Section 2 (14) of BNS, 2023?

l. Any harm illegally caused to a person in body and mind
2. Any harm illegally caused to a person in body and property
3. Any harm illegally caused to a person in body, mind, reputation or property
4. Any harm illegally caused to a person in body, mind and reputation
Options :
93806618109. 1
93806618110. 2
93806618111. 3
93806618112. 4



Question Number : 78 Question Id : 9380664654 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HRAY €3 Ulgd, 1860 B YR 44 31X HRA 410 Ulgdl, 2023 I URT 2(14) & 3EH
fAafeiRad | 9 feay <3ugfa- sifiud g2

1. {4t ogfdd & TR 3R 749 & Ufd TR-DHMHH 9 U SR Dig I

2. [l safad & TRR 3R IS YUK & Uid TR-BIH =0 H IR Bl UG |

3. foo il cafad & 2R, 14, ufdsr a1 39&! Yufi & uld RS U d SIRd Dig
RURIE]

4. T4l Afdd & IRR, T, TS & Ufd TR- DI U 9 IR $ig IUGIH|

Options :

93806618109. 1
93806618110. 2
93806618111. 3
93806618112. 4

Question Number : 79 Question Id : 9380664655 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Seven Legislations are listed under Schedule I of the National Green Tribunal Act, 2010. Which
of the following Act is not included under Schedule I?

1. The Forest (Conservation) Act, 1980
2. The Environment (Protection) Act, 1986
3. The Biological Diversity Act, 2002
4. The Scheduled Tribes and other Traditional Forest Dwellers (Recognition of Forest Rights)
Act, 2006
Options :
93806618113. 1
93806618114. 2
93806618115. 3
93806618116. 4



Question Number : 79 Question Id : 9380664655 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

PTg gRd it SffEd, 2010 6 SYHI-1 H Aid el &1 Yidg fbar man g
FafaRad o O foy sifefag of 9eitd sHydi-1 o aftiferd =i fhar mar g2

1. 9 (&0 g, 1980

2. G U] (IRE0) ATETTH, 1986

3. oI fafdedr a9, 2002

4. YT STl 3R 30 WRURIAT 9 i (@ ff¥aRI S @) HiUad, 2006

Options :

93806618113. 1
93806618114. 2
93806618115. 3
93806618116. 4

Question Number : 80 Question Id : 9380664656 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

From which country, Part TV of the Indian Constitution is borrowed?

1. Russia
2. Ireland
3.USA
4. Spain
Options :
93806618117. 1
93806618118. 2
93806618119. 3
93806618120. 4

Question Number : 80 Question Id : 9380664656 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRd & UIAH BT YAT-9R FafaRad § U fy <=1 & dfaer U 3gyd fodar g2

1. &Y
2. RS
3. Yo I SHRST
4. T
Options :
93806618117. 1
93806618118. 2
93806618119. 3
93806618120. 4



Question Number : 81 Question Id : 9380664657 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Estrada doctrine dealing with recognition of States and Government is primarily related to which
country?

1. Spain

2. Mexico
3. Germany
4. China

Options :

93806618121. 1
93806618122. 2
93806618123. 3
93806618124. 4

Question Number : 81 Question Id : 9380664657 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Al R WDHRI S W=dT Y Yaifeyd g&S1 Rgia Fafeigd o O foyg < 9 gefdd g»

1. q

2. Hidgal
3. ST
4.4

Options :

93806618121. 1
93806618122. 2
93806618123. 3
93806618124. 4

Question Number : 82 Question Id : 9380664658 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following case, the Supreme Court of India held that telephone tapping is a
serious invasion of an individual's right to privacy?

1. People's Union for Civil Liberties v/s Union of India
2. R. Rajagopal v/s State of T.IN.

3. Mr. X’ v/s Hospital ‘Z’

4. State of Maharashtra v/s Madhulkar Narain

Options :

93806618125. 1
93806618126. 2
93806618127. 3
93806618128. 4



Question Number : 82 Question Id : 9380664658 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hifdhd H O {60 UdHul § HRd & 3=dH el - ARl ¢ & dallhlH U &1 didd
& (5Tl & ISR W ITHR 3AHH g2

1. 4iueq gfa4 BR ffdd fadfds §=9m yRd 99
2. 3R ST S99 diierg Iy
3. ey x 9qm grddicd z
4. HERIY T 11 AYAB TR0
Options :
93806618125. 1
93806618126. 2
93806618127. 3
93806618128. 4

Question Number : 83 Question Id : 9380664659 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following case does not relate to the concept of absolute Liability under law of
India?

1. Indian Council for Enviro-legal Action v/s Union of India
2. Klaus Mittelbachert v/s East India Hotels of India

3. Madras Railway Co v/s Zeminder of Carvatenagram

4. M.C. Mehta v/s Union of India

Options :

93806618129. 1
93806618130. 2
93806618131. 3
93806618132. 4

Question Number : 83 Question Id : 9380664659 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frafciad O 9 oI 91 UH0l 3udhd fafe & siefi-1 quf gl &1 sfaeron ¥ Yeferd 781 g:

1. 33T HIITA BIR TR UaRH §-H HRd 99
2. FA Heiddd e a4 3% SISl gled fdl.

3. HG ¥dd B! 941 SHIGR, PRATRA

4. TH. 1. Hegdl §9M YRJ IY

Options :

93806618129. 1
93806618130. 2
93806618131. 3
93806618132. 4



Question Number : 84 Question Id : 9380664660 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not an absolute privilege under the law of torts?

1. A petition to Parliament
2. Words written or spoken before a Tribunal
3. Communication made in self-protection
4. Communication relating to State matters made by one minister to another
Options :
93806618133. 1
93806618134. 2
93806618135. 3
93806618136. 4

Question Number : 84 Question Id : 9380664660 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3P fafY & el Fafefaa o O w1 qul faRwiiasR =81 8-

1. e J g1 Ukdd Al

2. Tl 3ifereh T o JHef feilRad =0 § U 31udT dic 7Y Wsg |

3. 30 S1d/3MTH GR& 1 fhdr a1 SR (Fuyon)

4. Y o AT Y Gefdd U W2l gR1 g8 1341 &l 161 741 UH-AdeR |

Options :

93806618133. 1
93806618134. 2
93806618135. 3
93806618136. 4

Question Number : 85 Question Id : 9380664661 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the US equivalent legislation of the Indian Right to Information Act, 20057

1. Freedom of Information Act, 1966
2. Freedom of Information Act, 1954
3. Freedom of Information Act, 1924
4. Freedom of Information Act, 1967

Options :

93806618137. 1

93806618138. 2

93806618139. 3

93806618140. 4



Question Number : 85 Question Id : 9380664661 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g’gﬂﬁ?%u&rﬁﬂmzﬁlﬁuﬁﬁmﬁ@ﬁwﬁam YRd U Y1 1 AR 4F9H, 2005
A g2

1. TISH 3H SHIHTH Ude, 1966
2. ThISH 3H SHIATH Ude, 1954
3. WhISH 3B ShIHTH Ude, 1924
4. Th1SH 3P SHIATHA UdT, 1967

Options :

93806618137. 1
93806618138. 2
93806618139. 3
93806618140. 4

Question Number : 86 Question Id : 9380664662 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following UN organization addresses the global justice concerns?

1. Trusteeship Council
2. General Assembly
3. International Court of Justice
4. Security Council
Options :
93806618141. 1
93806618142. 2
93806618143. 3
93806618144. 4

Question Number : 86 Question Id : 9380664662 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TG 1Y ¥ DT I F1 W1 A U b1 FIdrsit b1 Haror & g2

1. O uRNg (&R S13Ma)
2. FRTHHT (SR 3¥dai)

3. TR T (TS TS

4. gRe aRwe (Reaid srsfia)

Options :

93806618141. 1
93806618142. 2
93806618143. 3
93806618144. 4




Question Number : 87 Question Id : 9380664663 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

United States Ombudsman Association was founded in which year?

1. 1977
21976
3. 1956
4. 1986
Options :
93806618145.
93806618146.
93806618147.
93806618148.

AW N =

Question Number : 87 Question Id : 9380664663 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Elé I ARG Al Urd 99 (T3S Wy HTEgai- THINULH) & 19T fdd 9y

1. 1977
2.1976
3. 1956
4. 1986
Options :
93806618145.
93806618146.
93806618147.
93806618148.

AW N =

Question Number : 88 Question Id : 9380664664 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Schedule of the Indian Constitution contains special provisions for the administration and
control of scheduled areas in several states?

1. Fifth

2. Third

3. Seventh
4. Ninth

Options :

93806618149. 1
93806618150. 2
93806618151. 3
93806618152. 4



Question Number : 88 Question Id : 9380664664 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRd & HideH o [y g & 3! st & ygfad &4 & U ud 901 gd fagiy
SUSYl DI Jeoid a1 11 82

Options :

93806618149. 1
93806618150. 2
93806618151. 3
93806618152. 4

Question Number : 89 Question Id : 9380664665 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who is the writer of the book titled, “The Post Modern Condition: A Report on Knowledge"?

1. Michel Foucault
2. Jean-Francois Lyotard
3. Jacques Derrida
4. Jean Baudrillard
Options :
93806618153. 1
93806618154. 2
93806618155. 3
93806618156. 4

Question Number : 89 Question Id : 9380664665 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
“fg Ulke Aisd d3ieH: YRUIE 3fi9 it 2fidd 9 yaiiRid Yeds [ufafad 4 9 fagal
Pid g2

1. T=Id Bl
2. TolgH Thb s g |iels
3. Wby SRSl
4. TS Sifgars
Options :
93806618153 1
93806618154, 2
93806618155. 3
93806618156. 4




Question Number : 90 Question Id : 9380664666 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which section in BNS, 2023 replaced section 124A of IPC, 1860 by prohibiting “acts
endangering sovereignty, unity and integrity of India™?

1. Section 112
2. Section 152
3. Section 95

4, Section 304

Options :

93806618157. 1
93806618158. 2
93806618159. 3
93806618160. 4

Question Number : 90 Question Id : 9380664666 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HRAR I GigdT 2023 @1 9 YRT A YR 10 gl 1860 B YRT 124A DI UiRITUT
e ST MY 1 FUHHT, Thdll 3R RS Bl W H STei ardd b B f8g Bl g2

1. YRT 112
2. YT 152
3. YRT 95
4. YR 304
Options :
93806618157. 1
93806618158. 2
93806618159. 3
93806618160. 4



Question Number : 91 Question Id : 9380664667 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the order of their introduction in the American Constitution by way of
Amendment (ascending order)

A. 18 year old Suffrage
B. Black Suffrage

C. Abolition of Slavery
D. Women Suffrage

Choose the correct answer from the options given below:

1.LA,B.C,D
2.B,C,DA
3.C,B.D, A
4. A C,B,D

Options :

93806618161. 1
93806618162. 2
93806618163. 3
93806618164. 4

Question Number : 91 Question Id : 9380664667 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e & H199d U SHRE1 & diqe § TR0 FEiRad of 3RIg o8 H af@d
DI

A. 18 99 DI 3 g IR HAEHR
B. ®Icl Alll &l AAMYSHR (scid Wib)

C. TIYYT T FHH
D. Higaril &1 Adii¥sR

4 few T faab et # 1 9l SR 9

> 0w g
nENE

-

B O N
&

-

B N I T o T

Options :
93806618161. 1
93806618162. 2
93806618163. 3
93806618164. 4



Question Number : 92 Question Id : 9380664668 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following cases on Gift under Muslim Law in chronological order (Ascending)

A. Magbool Alam v/s Khadajia

B. Khurshida Begum v/s Komammad Farooq
C. Abdul Rahim v/s Abdul Zabar

D. Valie v/s Puthakkalam

Choose the correct answer from the options given below:

1.C,B.D. A

s T

3.2.B.C.A D

4.A,D,B,C
Options :

93806618165. 1
93806618166. 2
93806618167. 3
93806618168. 4

Question Number : 92 Question Id : 9380664668 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i 9f9 & 3fefiH IugR W Haied FHEfeiRad UHvl o1 SIahHaR (F¢d HH 1)
AR DIT:

A. TH A 3HTed §-1H @rel o/

B. GRIGT 7Y §411 HIHHE BRED
C. 3{egel XGIT -1 3fogd SIaR

D. dail §-19 GYTdhIed

1 feu U fadei & w8l SR
1.C,B.D. A
2.D.AC.B
3.B,C,A. D
4.A,D,B,C
Options :

93806618165. 1
93806618166. 2
93806618167. 3
93806618168. 4



Question Number : 93 Question Id : 9380664669 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following provisions as per the correct order in the Indian Constitution (Article wise)

A. Failure of Constitutional Machinery in State
B. Proclamation of Emergency

C. Financial Emergency

D. Suspension of Article 19 during emergency

Choose the correct answer from the options given below:

Options :

93806618169. 1
93806618170. 2
93806618171. 3
93806618172. 4

Question Number : 93 Question Id : 9380664669 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR & Gidy™ # IfcaiRad Sueel &l Ugl H T (3wda dR) A DifoId:

A I H Haue AR &1 f[dwaar
B. AUIdHId B G0
c. fa<it smardsTd

D. 3MUIdDId & GRIF 3w 19 DI e
AId feu Y fddhed! | wgl 3R -

I.B,A,D,C
2.A.B,C,D
3.0 DA
4.D.A B, C

Options :

93806618169. 1

93806618170. 2

93806618171. 3

93806618172. 4




Question Number : 94 Question Id : 9380664670 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following provisions in the correct order of their appearence in the Information
Technology Act, 2000 (section-wise)

A. Penalty for misrepresentation

B. Punishment for identify theft

C. Punishment for cyber terrorism

D. Penalty for breach of confidentiality and privacy
E. Punishment for violation of privacy

Choose the correct answer from the options given below:

1.A.B,C.D,E

2.C,B,A,E,D

3BACDE

4.B,E,C,A,D
Options :

93806618173. 1
93806618174. 2
93806618175. 3
93806618176. 4

Question Number : 94 Question Id : 9380664670 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 Uit fEgH, 2000 H HEfciRaia Sudyl & Sooid ¥ Ydidd fawdl o 4R1-9R)
el hH | ogaiyd Hifore:

A. GUUCEH &1 MM

B. UgdH R ®I 58

C. UI3eR AddHdIg 1 GU3

D. YT 3R s 41 &1 2Rd
E. FdI-3ocigd $1 503

I8 B C, DL E

2 CBAED

3.B.AC,D.E

4.B,E,C,A.D
Options :

93806618173. 1
93806618174. 2
93806618175. 3
93806618176. 4



Question Number : 95 Question Id : 9380664671 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange chronologically the following negotiations of GATT between 1947 to 1994 which led to
the formation of WTO?

A. Annecy

B. Kennedy Round
C. Tokyo

D. Torquay

Choose the correct answer from the options given below:

93806618177. 1
93806618178. 2
93806618179. 3
93806618180. 4

Question Number : 95 Question Id : 9380664671 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

aY 1947 U 1994 & T ¢RE 3R HdgR BT Y- GHIIAT (GATT) & SHaiTd 9gd I
JIdiGR gu foRR fa% SUR WS (WTO) 1 184 gaiT| (HHliad ardiaR & 3-d giH &
HIIH TR TIT:

A. T 9rdfer
B. Bi-al AIdGR
c. eIl ardigR

D.TR® g aiﬁlq
4 feu g fd eul # Tl S
I &, B, C.D
2.B,CAD
34 T B.C
4.C,B.D.A
Options :

93806618177. 1
93806618178. 2
93806618179. 3
93806618180. 4



Question Number : 96 Question Id : 9380664672 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following as per the correct order in the Indian Constitution (Article-wise)

A. Establishment and Constitution of Supreme Court
B. Original jurisdiction of Supreme Court

C. Legislative power of Governor

D. Transfer of a judge from one High Court to another
E. Jurisdiction of existing High Courts

Choose the correct answer from the options given below:

1.

2. E
3.D,
4. E
Options :
93806618181. 1
93806618182. 2

93806618183. 3
93806618184. 4

Question Number : 96 Question Id : 9380664672 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRd & HidyH & [Hafciad Sudtl & Ugl %4 | (3w96-dR) FaiRId SIT:

A. S AT 1 WG] 3R 3] 7164

B. S=ddH AT D Jd URTRAT

C. IsYyTe &I faymdl 2ifdd

D. R &1 U I U U g8 3o Ay § RIHIdR
E. [dg0M I= ararad] &t Si¥dbiid

i3 oy U et 98 SR

0N YW
wN.-Nolo
oo
3>t P

-

Fo i =
mgmpe

-

Options :

93806618181. 1
93806618182. 2
93806618183. 3
93806618184. 4



Question Number : 97 Question Id : 9380664673 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following provisions of Protection of Human Rights Act, 1993 in the order of its
appearance in the Act.

A. Inquiry into complaints

B. Procedure with respect to armed forces

C. Investigation

D. Powers relating to inquiry

E. Statements made by person to the Commission

Choose the correct answer from the options given below:

1.A.B,C.D. E

2LADERC

3.ABC.EB

4.D,C,E,A.B
Options :

93806618185. 1
93806618186. 2
93806618187. 3
93806618188. 4

Question Number : 97 Question Id : 9380664673 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AHENTHR Y&0T AR, 1993 & FHfRId Sudel & 39d Ieoid & 3I9R gl hH
HIRRYT DIT:

A. RieId ol &g

B. Y2Rd Sl & Y9 H 3018 4 drcil Uidhar
C. 34U

D. Sitd U Yeferq wfamdr

E. fdd gRT /AN H {631 7141 9dde] (91)

Options :

93806618185. 1
93806618186. 2
93806618187. 3
93806618188. 4



Question Number : 98 Question Id : 9380664674 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the order in which they appears in the Indian Contract Act.

A. Agreement by way of Wager

B. Agreement in restraint of legal proceedings
C. Agreement in restraint of trade

D. Agreement of restraint of marriage

Choose the correct answer from the options given below:

A, B, C,D

I
2.B, :
3[},
4.C

ot
> WO
w >

Options :

93806618189. 1
93806618190. 2
93806618191. 3
93806618192. 4

Question Number : 98 Question Id : 9380664674 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR Tidar fEfa § guifad RgieiRad aR1 &l gl HH H Hafyd HIfT:

A.Gld S 3Udy

B. [ HRIAE] 3dF g B & AU fHar T R
C. AR 3Aa=g DR P [oU fhgl T FRR

D. [4a1g 3a&<g B o U a1 T IR

AId feu Y fddhed! | wgl 3R -

A,B,C,D
B.C, D,
DB,
4.C,D, A,
Options :
93806618189. 1
93806618190. 2
93806618191. 3
93806618192. 4

l.
2 A
3. A
B



Question Number : 99 Question Id : 9380664675 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Conventions in the chronological order of their coming into force.

A. The Biological Weapons Convention

B. The Chemical Weapons Convention

C. The Conventional Weapons Convention

D. The Ottawa Convention on Anti-Personnel Mines

Choose the correct answer from the options given below:

.A.B,C.D

1.%.0.-8.1

3.C,A.B,.D

4.C,D,A,B
Options :

93806618193. 1
93806618194. 2
93806618195. 3
93806618196. 4

Question Number : 99 Question Id : 9380664675 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afeRaa sl &1 396 Uad- d 3 (Ut 8H) & YR IR BIahd H HdYd HifIu:

A. Sifd® AR g

B. YA iR 3fyaHg

C. WWRITd giaaR 3fiaayg

D. B faRIet WHT U Ydi¥d 3dterar fHaay

AId feu Y fddhed! | wgl 3R -

I8 B.E 1
2.A.C,B.D
3.CAB D
4.C,D,A B

Options :

93806618193. 1
93806618194. 2
93806618195. 3
93806618196. 4



Question Number : 100 Question Id : 9380664676 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following cases on Maintenance in their chronological order (Ascending order)

A. Saira Banu v/s AM Abdul Gafoor

B. Danial Latifi v/s Union of India

C. Noor Saba Khatoon v/s Mohd. Quasim
D. Md. Ahmed Khan v/s Shah Bano Begum

Choose the correct answer from the options given below:

D.C,A, B

-

1.
245
3.A,
4.D,

> WO
NOW;
WA >

Options :

93806618197. 1
93806618198. 2
93806618199. 3
93806618200. 4

Question Number : 100 Question Id : 9380664676 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RO giNT § Heid FafaRad usun & Srased | (3RIg B H) aiiyd Sife:

A. URRT dH! §419 U UH 3fegd THR
B. S[H9d ddiHh] 9911 URd 49

C. R Y&l DI &9 Highg Sy
D. HIgHIG 3gHE W &1 ATgaT-l o7H

AId feu Y fddhed! | wgl 3R -

D.C,A B

-

i,
2.0
.
4.D,

;umt::
OO W;

>

wn e

Options :

93806618197. 1
93806618198. 2
93806618199. 3
93806618200. 4



Question Number : 101 Question Id : 9380664677 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following cases related to Indian Contract Act in chronological order (ascending)

A. State of Madhya Pradesh v/s Gobardhan Dass

B. New India Assurance Co. v/s Haryana Roadways, Sonipat

C. Chairman-cum-M.D. T.N. Tea Plantation Corp.Ltd v/s M/S Srinivasa Timbers
D. G.S.R.T.C v/s B. Arunchandra & Co.

Choose the correct answer from the options given below:

A, B, C,D

-

I

2.B,
34,
4.D,

U:J':Jf"?
P O

-

n g g

Options :

93806618201. 1
93806618202. 2
93806618203. 3
93806618204. 4

Question Number : 101 Question Id : 9380664677 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR didar ifefgw O Jdfed FafiRad Uhol &1 Siashd H (3IRIE] o H) sdaiiyd
DT

A. U USRI o] §4H TMae- G

B. Y siSd1 UURY &1 gRAm Asds FiHiud

C. & g YYD o=, e 9rg ST 47w for. s+ aa difary ferad
D. Sl TY 3R &1 Il 911 3= g US HU-T

13 fow T et & 98 SR

*
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™D 0w
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> m o0
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Options :

93806618201. 1
93806618202. 2
93806618203. 3
93806618204. 4



Question Number : 102 Question Id : 9380664678 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following legal instruments chronologically (ascending order)

A. Rights of Persons with Disabilities Act (India)

B. OP to the CEDAW

C. UN Principles for older Persons

D. UN Convention on the Rights of Persons with Disabilities

E. UN Declaration on Rights of Persons belonging to National. Ethnic, Religious and
Linguistic Minorities

Choose the correct answer from the options given below:

Options :

93806618205. 1
93806618206. 2
93806618207. 3
93806618208. 4

Question Number : 102 Question Id : 9380664678 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfRId &1 PIAHAIR (ARG HH H) T TaRRUd Hiflu:

A. Teain Afqml &1 SR fafay (URa)

B. Ul § S U S&g Bl dbfctidh Ulcldhld

C. 9 oAfeadl & fo1g dga g sl

D. f¢aaiT feqal & AfTHR Heieh Ygad Y i
E.%WW@?WW@T%W% 3HUPR et TG P Bl

1 feu U fadedi o wg IR
I8, B DL E
2.C,E.B,. DA
3.E.D.AEDB
4. DA, C,B.E
Options :

93806618205. 1
93806618206. 2
93806618207. 3
93806618208. 4



Question Number : 103 Question Id : 9380664679 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following provisions pertaining to procedure of granting patent (section-wise) in its
correct sequence.

A. Time for putting application in order for grant

B. Request for examination

C. Publication of application

D. Priority date of claims of a complete specification
E. Mention of inventor as such in patent

Choose the correct answer from the options given below:

LI € B AE

2.B,C,D,A,E

3.3EADCB

4.A.E,B,C,D
Options :

93806618209. 1
93806618210. 2
93806618211. 3
93806618212. 4

Question Number : 103 Question Id : 9380664679 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Uce ¢ 3 Ui ar U Uafed Uyl & (F8-aR) Ug! HH H TaUd HIfTu::

A. T UGH ®RH o A Y 3Tde- U &I aieyd hH H 1441
B. 9l &I 3{UE DAl

C. 3ATdGH U (WA 9H) &1 UHIRH

D. qui {42 dTel GIal &1 3RId1 (d<1gdn) oH 8 dRid

E. Ude & 390 &l Ieeid

I feu e fddhedl & Tgl 3R -

L.D.C.B AFE

2.B,C,D,AE

3.3 EADCB

4.A.E,B,C,D
Options :

93806618209. 1
93806618210. 2
93806618211. 3
93806618212. 4



Question Number : 104 Question Id : 9380664680 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of their enactment (ascending)

A. West German Constitution

B. British North America Act

C. Australian Constitution Act

D. Article of Confederation and Perpetual Union

Choose the correct answer from the options given below:

1.D,B,C.A

2.A,B.C,D

3. B.AC.D

4.D,C,B,A
Options :

93806618213. 1
93806618214. 2
93806618215. 3
93806618216. 4

Question Number : 104 Question Id : 9380664680 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FHfaRad &1 3% UMAEd fdbT 54 & SUR R dgd HH H Iollu:

A. Ui S @1 dfaeE

B. fofeRr SwR-smivaT sifafrg

c. 3fReferan &1 dide sfafay

D. UREY 3R AIdd T B =56 (3MEhd 3 HlhsRH 1S WuwAd gHgH)

AId feu Y fddhed! | wgl 3R -

1,080 A
2.A.B,C.D
3. HACD
4.D.C,B,A
Options :

93806618213. 1
93806618214. 2
93806618215. 3
93806618216. 4



Question Number : 105 Question Id : 9380664681 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the historical order of development of Natural Law theories (ascending)

A. Union with Divine is end of law

B. Church is the law giver

C. Development of idea of Rationalism
D. Revival of Natural Law

Choose the correct answer from the options given below:

1.A.B,.C.D

2. B €%, D

3.D,C.B.A

4. A.C,B,.D
Options :

93806618217. 1
93806618218. 2
93806618219. 3
93806618220. 4

Question Number : 105 Question Id : 9380664681 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“giiie fafd Rsidl & faei¥d g1 (Ao & Uagiiie &0 & U5l v H (3RIg! A H)
HIRRYT HIFIT:

A. Y (feogaem ¥ e fafd S aeg g1
B. Id (FIRSIER) f[fe-fAAfar g

C. db-HiIddie & fddR $1 Igfddry

D. 1fid fafe BT gaRifu

.

-

-

NNOW
W W@ > O
o gog

-

Pl =
oWy

.

Options :

93806618217. 1
93806618218. 2
93806618219. 3
93806618220. 4



Question Number : 106 Question Id : 9380664682 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following decisions are related to extradition:

A. Savarkar case

B. Abu Salem case

C. Castionl, re case

D. Meunier, re case

E. Paquete Habana case

Choose the correct answer from the options given below:

Options :

93806618221. 1
93806618222. 2
93806618223. 3
93806618224. 4

Question Number : 106 Question Id : 9380664682 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafafed 7 9 I ifHAfE yador ¥ d6fia 8

A. IaRDHR YUl

B. 3{q Yol UH0l

C. b3l U dftrd Ul
D. FER ¥ Haied UHrol
E. U] g U

14w U et 3 98 SR

1. HAA A, B, C
2. HddB,C.D,E
3. $Ad A, B, C, D
4. HAA A, B.D.E
Options :
93806618221. 1
93806618222. 2
93806618223. 3
93806618224. 4



Question Number : 107 Question Id : 9380664683 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a guardian under the Hindu Minority and Guardianship Act, 1956?

A. Guardian for Marriage
B. Maternal Guardian

C. Testamentary Guardian
D. Guardian by Affinity

Choose the correct answer from the options given below:

1. A and B Only
2. AOnly
3. Cand D Only
4. C Only

Options :

93806618225. 1
93806618226. 2
93806618227. 3
93806618228. 4

Question Number : 107 Question Id : 9380664683 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

forg Sreqded UUUTdD gl AT, 1956 & 31 FHfeiad § 9 ©H sfftuas 731 ¢:

A. fda1g & fau siftrvas

B. A9 HYETH

C. gl fHUGD

D. faarg-gde RUd B & Badey &-1 SHUaD (i 918 Uhd)

AId feu Y fddhed! | wgl 3R -

|.$dd A 3R B
2. Had A
3. $Had C AR D
4. Had C

Options :

93806618225. 1
93806618226. 2
93806618227. 3
93806618228. 4




Question Number : 108 Question Id : 9380664684 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are not correct in respect of US Constitution?

A. Mode of Amendment is given in Article IV
B. % of both houses can propose Amendments
C. It has to be ratified by % of state legislature
D. Constitution cannot be amended by Convention

Choose the correct answer from the options given below:

1. A and B Only
2. Aand D Only
3. Cand D Only
4. B and D Only

Options :

93806618229. 1
93806618230. 2
93806618231. 3
93806618232. 4

Question Number : 108 Question Id : 9380664684 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SRS HiayM & IR d (HgfeRad d S99 &UH Tad B

A. dfayE & d2ied 31 fafd &1 Ieoid sH=q v 1 g

B. G GHISHl & &l [IgTs Yo YRITYH &l UKld ¢ b ¢ |

C. 39 9 diyrs I faur dedl gR1 $HyaEd s usdi gl
D. T gRI1iaeE d T2ned =g fdhar S 9ahdi g

AId feu Y fddhed! | wgl 3R -

|.$dd A 3RB
2. HId A AR D
3. $Hdd C AR D
4. ®HAdd B 3R D

Options :

93806618229. 1
93806618230. 2
93806618231. 3
93806618232. 4




Question Number : 109 Question Id : 9380664685 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. The first national commission for women was constituted on 31.01.1992

B. National Commission for Backward Classes has been accorded constitutional status through
102nd Constitution (Amendment) Act, 2018

C. The ministry of Minority Affairs was carved out of Ministry of Social Justice and
Empowerment

D. National Commission for Scheduled Tribes has been set up under Art. 338

E. Art. 338A deals with National Commission for Scheduled Castes

Choose the correct answer from the options given below:

1. B, C, D Only
2.C,D, E Only
3. A, B, C Only
4. A, C,E Only
Options :
93806618233. 1
93806618234. 2
93806618235.3
93806618236. 4

Question Number : 109 Question Id : 9380664685 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafRad # HIHY oY Ul o

A. UYH ST ARG TG BT 713 31.01.1992 i G|

B. P14 fUs ST at i 1029 AfFer (@2mer) i, 2018 & Areqd § Gayie ol
U fhar |

C. S B (AT HATTY TSSO 3R TS IRGr HATCd U WgHd g3 5

D. T ST SIS SR BT 715 =9 338 & e g1 g

E. 3dwdq 338 () AP 3IY[d i SarT § Feiferd g

i3 fow U et 4 98 SR

1. $ddB, C, D
2. HAd C, D, E
3. BAA A, B, C
4. HAdd A, C,E

Options :

93806618233. 1
93806618234. 2
93806618235. 3
93806618236. 4



Question Number : 110 Question Id : 9380664686 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What are the duties of a bailee as provided under the Indian Contract Act?

A. Duty to take reasonable care of the goods bailed.

B. Duty not to make unauthorized use of the goods.

C. Duty not to mix bailor's goods with his own goods.

D. Duty to return the goods on fulfilment of the purpose.

E. Duty not to deliver to the bailor increase or profit on the goods bailed.

Choose the correct answer from the options given below:

1.B, C,D, E Only
2.C,D,E, AOnly
3.D.E. B, AOnly
4. A, B, C,D Only
Options :
93806618237. 1
93806618238. 2
93806618239. 3
93806618240. 4

Question Number : 110 Question Id : 9380664686 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR Tidar i & 3= gu1 Iudidd 3uligdl & iy Fgifhd § d ®-a g:

A. SURfed axg3il BT TfId Gavd H3 H hdid

B. ATd BI 384G d =9 U IUGIT gl S Bl hoA

C. S & HId @l 3(U- W4 & Hid U gl [ &l ddod

D. WIS ¥ g1 & ULTd A1l & 910y 6 T Dl

E. SUMTEd HId TR He Sgldx A1 A fold &R Sl &l el o &l ddd

14w U et 3 98 SR

. $dd B, C. D, E
2. HAddC,D,E. A
3. $ddD,E, B, A
4. HAA A, B.C,D
Options :
93806618237. 1
93806618238. 2
93806618239. 3
93806618240. 4




Question Number : 111 Question Id : 9380664687 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following case, the golden rule for framing prospectus was formulated by V.C.
Kindersley?

A. Methodist Church v/s Union of India

B. R. v/s Registrar of Companies

C. New Brunswick Canada Railway Co. v/s Muggeridge
D. Jubilee Colton Mills Ltd. v/s Lewis

Choose the correct answer from the options given below:

1. A and C Only

2. B Only

3. C Only

4. B and D Only
Options :
93806618241. 1
93806618242. 2
93806618243. 3
93806618244. 4

Question Number : 111 Question Id : 9380664687 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfaRad | U foog o | d1. I, fhsddl 2 deitiar fafur & fau @ity (a9 @i
&) &I Ufaare febar .

A. HUfSE Id 9919 YR U9

B. 3R §411 & U+l Fdyd

C. 7 Juldd HAST Iaid DU FH GRS
D. Sdcfl dic e fel. &= dfdy

i3 oy U et 98 SR

. Had A AR C

2. Hdd B

3. Hhad C

4. Had B AR D
Options :
93806618241. 1
93806618242. 2
93806618243. 3
93806618244. 4



Question Number : 112 Question Id : 9380664688 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct about *Rule of Law’?

A. Tt is derived from French phrase *“La principe de legalite™
B. It is called supremacy of law

C. It promotes arbitrary governance

D. Decisions could be made by discretion only

Choose the correct answer from the options given below:

1. B, C Only
2.C,D Only
3. A, D Only
4. A, B Only

Options :

93806618245. 1
93806618246. 2
93806618247. 3
93806618248. 4

Question Number : 112 Question Id : 9380664688 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

919 &1 A & Yoy H Fafafad § 9 oF 3 oY T8l o

A. gg thd HINI & Ucdy <o Ryd) S fefarge: 9 ogad gai g |
B. 34 Ay &1 Ydiedar &1 i T &l i 81

C. U HAHHT NH e &l derdl [Hddl ol

D. 39H thdd [ddaT¥eR & 9T I faf-yg fou o1 9ad 5|

AId feu Y fddhed! | wgl 3R -

I.$Id B, C
2. &Hdd C, D
3. HId A, D
4. &hdd A, B

Options :

93806618245. 1
93806618246. 2
93806618247. 3
93806618248. 4



Question Number : 113 Question Id : 9380664689 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a general defence under Torts?

A. Mistake
B. Remoteness

C. Necessity
D. Consent

Choose the correct answer from the options given below:

1. A and B Only
2. C Only
3. Cand D Only
4. B Only
Options :
93806618249. 1
93806618250. 2
93806618251. 3
93806618252. 4

Question Number : 113 Question Id : 9380664689 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad © O 1 3Upd & 31l G uloRer 81 6

A Hd
B. &3 I (YX 81
C. 3HdGhdl

D. ggafd
AId feu Y fddhed! | wgl 3R -

|.$dd A 3R B
2. %Had C
3. $Hdd C AR D
4. HAd B

Options :

93806618249. 1
93806618250. 2
93806618251. 3
93806618252. 4



Question Number : 114 Question Id : 9380664690 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct regarding the Doctrine of Legitimate Expectations?

A. The doctrine has an important place in the development of law of judicial review.

B. Doctrine is well established and operated in the domain of public law.

C. Doctrine has been developed both in the context of reasonableness and natural justice.

D. The concept of legitimate expectation made its first appearance in the case of Union of India
v/s Hindustan Development Corpn.

Choose the correct answer from the options given below:

1. A, B, D Only
2. A, B, C Only
3.B, C,D Only
4. A, C,D Ounly
Options :
93806618253. 1
93806618254. 2
93806618255. 3
93806618256. 4

Question Number : 114 Question Id : 9380664690 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafRad ¥ 9 ®IF H SU Ggfad (s T fgid & R J 91 6

A. 29 TUSid &1 1A gl (Glan de¢i fafg-fFaio o ngayul == g1

B. Ig [&id GG § 3R WHRI (dlid) fai¥ & &7 1 uded g

C. 34 Ngid &I i 2R Aufife - aFl & da | 94/ g

D.ﬂwémlﬁwﬁmWWWWWW%ﬁméaﬂuﬁzaﬂwas
OhRU] H W 375 |

i3 oy U et 98 SR

1. $dd A, B, D
2. HAA A, B, C
3. Hdd B, C.D
4. HAA A, C.D
Options :
93806618253. 1
93806618254. 2
93806618255. 3
93806618256. 4




Question Number : 115 Question Id : 9380664691 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following articles incorporate, the expression ‘right to life’?

A. Article 3 of UDHR, 1948

B. Article 6 of ICCPR, 1966

C. Article 9 of ICESCR, 1966

D. Article 3 of OP2 of ICCPR., 1989

Choose the correct answer from the options given below:

1. A and C Only
2. Aand B Only
3. Cand D Only
4. B and D Only
Options :
93806618257. 1
93806618258. 2
93806618259. 3
93806618260. 4

Question Number : 115 Question Id : 9380664691 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRed o U fo sF=sal § <Sfilad &1 sifddrR: ot stitreafad &1 garfgd fhar marg?

A. HHAIRGR &1 GdHIH® 9INUIT, 1948 BT 3w5G 3
B. 3MTs 41 U1 U1 3R, 1966 BT 3G 6

c. 315 U3 WUl 3R, 1966 Bl T34 9
D. 3MTS i Tl U1 3R 1989 & debictich Ulelbld 2 Pl A6 3

AId feu Y fddhed! | wgl 3R -

. Pad A AR C
2. HId A 3R B
3. $Hdd C AR D
4. ®HAdd B 3R D

Options :

93806618257. 1
93806618258. 2
93806618259. 3
93806618260. 4




Question Number : 116 Question Id : 9380664692 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following rules are related with ‘nulla poena sine lege’?

A. Retroactivity of Penal Laws.
B. Strict Construction

C. Certainity in Legislation

D. Accessibility of the law

E. Liberal Interpretation

Choose the correct answer from the options given below:

1. C, D, E Only
2. A, B, E Only
3.A.D, E Only
4. B, C, D Only
Options :
93806618261. 1
93806618262. 2
93806618263. 3
93806618264. 4

Question Number : 116 Question Id : 9380664692 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
el TIEH1 9184 o (fafe & foq1 €9) 9 Hgieiad & 9 & U (99 9Rafdd g:

A. GUs {af9g] &1 Ydael gurd
B. 3R A
c. fay &I Afgadr

. f[afe &t afftrmar
E. 3aR a9 (agrRa)

14w U et 3 98 SR

1. HddC. D, E
2. $IAd A, B, E
3. $dd A, D, E
4. Hdd B, C,D
Options :
93806618261. 1
93806618262. 2
93806618263. 3
93806618264. 4




Question Number : 117 Question Id : 9380664693 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is net true in the context of powers of the President in the Indian
Constitution?

A. The President is the Supreme Commander of the Defence Forces of the country.

B. All treaties and international agreements are negotiated and concluded in the name of the
President though subject to ratification by the Parliament.

C. President has power to summon and prorogue the Parliament and can dissolve the Lok
Sabha.

D. President is empowered to promulgate ordinances during recess of Parliament under Article
213 of the Indian Constitution.

Choose the correct answer from the options given below:

1. D Only
2.B, C Only
3. C Only
4. A, B Only

Options :

93806618265. 1
93806618266. 2
93806618267. 3
93806618268. 4



Question Number : 117 Question Id : 9380664693 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T%ﬁﬁmﬁ@%@awﬁﬁwﬁ%ﬁaﬁﬁﬁﬁ%@aﬁﬁﬁﬁwmmm

A. VT GRS IH! G134 (U A1, =1 AT, 91 1) DT U= Ui §Id B

B. I WferE! 3R RIS SRRI & AR | faR-faast ok 3¢ offad w0 feu S &1
gﬁﬂm%ﬂmﬁﬁmm%wﬁa UG gRI 3ggArdd fbu SH & sreaefia gid

1

C. PR DI THE BT FHTAT D Gl Bl Mg DI, TATHH D & WY-T1Y AHTHT Dl
faufed & &1 i AT B

D. PRI DI HRA & FTUH & 3fTwde 213 & eI G8q B fagifd & SR sreanew
TRATUT B &) Wfdd 1 713 g

i3 oy U et 98 SR

1. HadD
2. $ad B, C
3. %Hdd C
4. Hdd A, B

Options :

93806618265. 1
93806618266. 2
93806618267. 3
93806618268. 4

Question Number : 118 Question Id : 9380664694 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct about *“legal theory™?

A. It defines Law

B. It analyses legal concepts

C. It deals with mere theory and has no practical importance
D. It highlights salient features of legal system

Choose the correct answer from the options given below:

1. A, B, C Only
2.B, C.D Only
3.A,B,D Only
4. A, C,D Ounly
Options :
93806618269. 1
93806618270. 2
93806618271. 3
93806618272. 4



Question Number : 118 Question Id : 9380664694 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faf¥® Rrgia & IR # FafaRad § 9 oF U HYH 9l g

A. 3UY [af¥ o gy < Sl 81
B. S fal¥ AheqArai (YRS BT IRy [T STl g |

C. U8 Bad dgifdd uell ¥ Teftd g 3R SUDI dls AldgliNg (UEIR1d) Hgd gl ol
D. 394 {aftd &3 1 G714 91d] &l IWNR bl Jar g

i3 Fow U et A wE SR G

I.HAA A, B, C
2. $Id B, C, D
3. Hdd A, B, D
4. ®HAd A, C,D

Options :

93806618269. 1
93806618270. 2
93806618271. 3
93806618272. 4

Question Number : 119 Question Id : 9380664695 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct in the context of standard form contract's?

A. Notice should not be contemporaneous with the consent.

B. There should be a reasonable notice of the contractual terms.

C. There should be no misrepresentation.

D. The parties are not bound if the terms are contained in a contractual document.

E. The contract with standard terms may be drafted by one party and on the same terms
contracts may be made with numerous persons.

Choose the correct answer from the options given below:

1.B, C., E Only
2. A, B, C Only
3.B, C.D Only
4. A, D, C Only

Options :

93806618273. 1
93806618274. 2
93806618275. 3
93806618276. 4



Question Number : 119 Question Id : 9380664695 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hidal & AF® Uy & deH # Fgiied 3§ U ®F U &y ol o

A. FIET YgA U IqSIcA g1 giFT d1igu|

B. Ufdal & M & 9qfad g1 @ifed) & S gl

C. BIE GAYGRH 51 I dlig|

D. FdeH! &1 JeoRa Hidardd axdlds H giH @i G2 H USSR 91 gl g |

E. HH® e gl Gidal o1 URSU (HHIGT) U U&HR JUR B Fadl g 3R Igl (HeeH]
& YR WR Ty Aldddl & U1y Yidal &I S T g |

i3 fow e et 3 wE SR

1. $ddB, C, E
2. $AA A, B, C
3. %4d B, C,D
4. HAA A, D, C

Options :

93806618273. 1
93806618274. 2
93806618275. 3
93806618276. 4

Question Number : 120 Question Id : 9380664696 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Mark the incorrect statement as per Muslim Law on Wills.

A. A will of a minor can be ratified by him on attaining majority.

B. The will of a person of unsound mind cannot be ratified on attaining sanity.

C. Will made by a sane person will become invalid if subsequently he becomes insane.
D. A will made by a person who subsequently commits suicide is invalid.

Choose the correct answer from the options given below:

1. A, D, Only

2. B Only

3. C, AOnly

4. D Only
Options :
93806618277. 1
93806618278. 2
93806618279. 3
93806618280. 4



Question Number : 120 Question Id : 9380664696 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fad ddefi giamfafe & sguR Fyfefad d ¥ &4 91 o3+ 7Tdd o

A.ﬁ?@%mﬁ?wﬁﬂﬁﬁa,wﬁmm I TR 3HD gRI TG fbar o

JHdl gl

B. T4t faféred (urer) safad o1 fad 39S 31 g WR Tauidd =181 fddr Sl Ghdi 3|

c. [&3l aIGR cufdd gR1 fdbar a1 fad uad! &rd § 3Ud UNTd giH &f g2 H IR-
faferHr=T gl Siu|

D. T4l U Afdd gRT fobdn 71 f9d off 916 H 3Tdgdl &R odl o, [a¥H 81 |

i3 fow e et 3 wE SR

. HId A, D
2. $dd B
3. PAAC, A
4. ®HAAD

Options :

93806618277. 1
93806618278. 2
93806618279. 3
93806618280. 4

Question Number : 121 Question Id : 9380664697 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are incorrect in the context of Adoption?

A. Muslim Law does not recognise adoption.

B. A married Hindu male can adopt a child without obtaining consent of his wife.
C. Child must not have completed the age of fifteen years.

D. Two persons cannot adopt the same child except in case of a husband and wife.
E. A person who is a major and sound mind can only be adopted.

Choose the correct answer from the options given below:

1. B, E Only
2. A, COnly
3.C,D Only
4. D, E Only
Options :
93806618281. 1
93806618282. 2
93806618283. 3
93806618284. 4



Question Number : 121 Question Id : 9380664697 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Gdd dgUl & YaH H Fofdad § I &F U HyH Tdd o:

A. & fafe § gxidh U801 ol 9r=gdl g1 <1 il g

B. faa1fed fe=g T iU+ Udl & YgHfd Ud b o1 g1 bl drcids @l Tie o Yebell |

C. 1D bl 39 U=5g 9N 15l g3 ol

D. had Uld Ud! 8iH & A Dl BlsHR 39 J1Hd H &l Hfdk Udh ol didd &1 add dgul
Tel PR gD g |

E. Hdd W] KIS 3R A% Afdd &l gl g Yg Ul gl bl o

i3 fow e et 3 wE SR

|. $Id B, E
2. HAA A, C
3. Had C, D
4. ®HAAD, E

Options :

93806618281. 1
93806618282. 2
93806618283. 3
93806618284. 4

Question Number : 122 Question Id : 9380664698 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following theory/theories is/are not closely connected to intellectual property
rights?

A. Economic Theory

B. Autopoietic legal Theory
C. Social Planning Theory
D. Instrumentalist Theory
E. Social Contract Theory

Choose the correct answer from the options given below:

1. C and D Only
2. A and E Only
3.B Only
4. D Only

Options :

93806618285. 1
93806618286. 2
93806618287. 3
93806618288. 4



Question Number : 122 Question Id : 9380664698 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad § U o Rigid diles dual UaHR Y g U 3 Ugdiioid 9ol o:

A. i gl

B. 3fleUufed TiTa ARl

C. qHII® SRS Rigid
D.%@?ﬁiﬁﬁﬁﬁ(&fmﬁﬁﬁm
E. IS e fgid

|.®dd c 3R D
2. Had A IRE
3. Hdd B
4. HAAD
Options :
93806618285. 1
93806618286. 2
93806618287. 3
93806618288. 4

Question Number : 123 Question Id : 9380664699 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are charateristic of ‘Legal Right’?

A. Rights are vested in person and not against a person
B. Rights are act or omission in favour of person entitled
C. Act or omission relates to a thing

D. Every legal right has a title

Choose the correct answer from the options given below:

1. B, C, D Only
2.A,C,D Only
3. A, B, C Only
4. A, B, D Ounly
Options :
93806618289. 1
93806618290. 2
93806618291. 3
93806618292. 4



Question Number : 123 Question Id : 9380664699 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafafed & oar fafied sfUaR i faxivard ¢

A. MYBHR Aidddl # (Afgd 8id § 7 I afdd & fae < |
B. 3YPR ThHeR Hfdd & 98 T g ydl g 3 |

C. P 3Ydl Ay [yl i 4 d&fad gid g1

D. Udd [df¥d SHEHR &I 4H gldl g |

i3 foy U et 4 9E SR

1. $ddB, C, D
2. $Ad A, C,D
3. HAA A, B, C
4. ®Hdd A, B, D

Options :

93806618289. 1
93806618290. 2
93806618291. 3
93806618292. 4

Question Number : 124 Question Id : 9380664700 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is true about Separation of Power in the Constitution of Canada?

A. Separation exists between only Judiciary and Parliament
B. Separation exists between executive and legislature

C. There is no general separation of power

D. Canadian Constitution has no parallel with Presidentialism

Choose the correct answer from the options given below:

1. B, D Only
2. A, C Only
3.A.B Only
4. C, D Only

Options :

93806618293. 1
93806618294. 2
93806618295. 3
93806618296. 4



Question Number : 124 Question Id : 9380664700 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafciad 4 9 ol 9 oyd o181 & didy § Aldkd & gyddhu & dR J g

A. DI ARSI 3R GG & i GUFHI gIdT 5|

B. dad DAUIferDl 3R faeTidd] & 7 JUdDh Ul gldl 6 |

C. QdTgl BT bl HHA GUdHR0I g1 3|

D. HIST & HidHH H APUFd ArHT IaRUT & FHHAR Dig 1o 6|

i3 foy U et 4 9E SR

1. $dd B, D
2. HAA A, C
3. HAd A, B
4. ®Hdd C, D

Options :

93806618293. 1
93806618294. 2
93806618295. 3
93806618296. 4

Question Number : 125 Question Id : 9380664701 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Theory/Theories is/are predominantly related to “attempt’ in law of
crimes.

A. Last seen theory

B. Proximity theory

C. Theory of Impossibility
D. Reformatory Theory

Choose the correct answer from the options given below:

1. A and C Only
2. C and D Only
3.B and C Only
4. A and B Only
Options :
93806618297. 1
93806618298. 2
93806618299. 3
93806618300. 4



Question Number : 125 Question Id : 9380664701 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SRTY AT H yary O deftd FgfiiRad 9§ 0 & U [figid ¢

A. 3ifdH IR <@ T i
B. 9 f¥gid

C. Y gH &1 [¥gia

D. QURIHAD sid

i3 foy U et 4 9E SR

1. Had A AR C
2. $Had C 3R D
3. HIAB AR C
4. ®Hdd A 3R B

Options :

93806618297. 1
93806618298. 2
93806618299. 3
93806618300. 4

Question Number : 126 Question Id : 9380664702 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I

Section under the Motor Vehicle (Amendment) Act, LIS_—.L.H

2019 Provision
A | section 164 B L Infc_)rmatmn to be given regarding

accident

B.|Section 162 II. | Motor Vehicle Accident Fund
C.|Section 164 A I1. | Scheme for golden hour
D.|Section 159 IV.| Scheme for Interim relief for claimants

Choose the correct answer from the options given below:

1. A-I, B-1V, C-III, D-II
2. A-1IV, B-1, C-II, D-III
3. A-IIL B-I1, C-1, D-IV
4. A-II, B-1II, C-1V, D-1

Options :

93806618301. 1

93806618302. 2

93806618303. 3

93806618304. 4



Question Number : 126 Question Id : 9380664702 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

n’lmﬁmghﬂ:.l;)aﬁﬁm gﬂlg
A.|YRT 1649 I |gHedl & aR H a1 fedr Sl
B.|YRT 162 I1. |HiegE goeA iy (Fid)
C.| ¥R 164D 1L | 0B (TS 3MaR) $i AlotAT
D.| 4RI 159 IV. | grdidhdiei & U ofaid gd
I feu T fad el & 4 Igl 3R &I 99 Biforu -

1. A-I, B-IV, C-I1, D-II
2. A-1V, B-1, C-1I, D-III
3. A-IIL B-1I, C-1, D-IV
4. A-11, B-III, C-1IV, D-1

Options :

93806618301. 1
93806618302. 2
93806618303. 3
93806618304. 4

Question Number : 127 Question Id : 9380664703 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
Principles of Natural Justice Case laws
A.|Pecuniary Bias I. |Gullapalli Nageswara Rao v/s A.P. SRTC
B.|Personal Bias I1. | Dimes v/s Grand Junction Canal
c |official Bias I M.meral Development Ltd. v/s State of
Bihar
D.|Judicial Obstinacy IV. [State of W.B v/s Shivananda Pathak

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III, D-IV
2. A-1L, B-111, C-1, D-IV
3. A-IV, B-III, C-II, D-1
4. A1 B-1, C-IV, D-II

Options :

93806618305. 1
93806618306. 2
93806618307. 3
93806618308. 4




Question Number : 127 Question Id : 9380664703 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Gl -1 D1 e i
A | g et L mqﬂiﬁﬁm Y e
B.|dafad 2ifiEfa L. (ST g1 IS Siq=H $HTd
C.| MDY JHH 1L ﬁﬂ;}ﬁ%ﬂaﬂﬁfﬁfﬁlﬁgaﬂmﬁﬁﬁ
D.|f® ST IV. | T4 e 39§91 Rdre uiod

d faU U fddedl & U Ul SR &1 98- Difold ;

1. A-I, B-11, C-III, D-IV
2. AL B-III, C-1, D-IV
3. A1V, B-1II, C-II, D-1
4. A-II1, B-1, C-IV, D-1II

Options :

93806618305. 1
93806618306. 2
93806618307. 3
93806618308. 4




Question Number : 128 Question Id : 9380664704 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I LIST-II
Authors/ Editors Title of books

A.|J Donhelly & D.J. Whelar I. |International Human Rights

B |1 Bainmani | Beel o The .Dxford Handbajlok of International
Environmental Law

c | karnika Seth I Computers, Internet and New
Technology Laws

b |7 Gibson v Patenting Lives: Life Patents, Culture &

Development

Choose the correct answer from the options given below:

1. A-II, B-1, C-IV, D-III
2. A-1, B-IV, C-11, D-III
3. A1, B-II, C-IIL, D-IV
4. A-II1, B-1I, C-1, D-IV

Options :

93806618309. 1
93806618310. 2
93806618311. 3
93806618312. 4




Question Number : 128 Question Id : 9380664704 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

a1

AP/ AUTGH

eI
U &1 T

A.|S. S TS &1 S, gier

IR RIE NI L RIERR:

B. | U IS0 UUS S, Ui

1

R, SRS 399 ot THaPRAcE
ol

B BT 5 0| e, §evete QuS g erieol e
D. |51, filsgq v [QERT TRoE: AR Uy, Heek US
- fg 7T fadpedt & 9 Uet SR &1 994 P -

1. A-II, B-1, C-IV, D-III
2. A1, B-1V, C-11, D-III
3. AL, B-11, C-IIL, D-IV
4. A-II1, B-1I, C-1, D-IV

Options :

93806618309. 1
93806618310. 2
93806618311. 3
93806618312. 4




Question Number : 129 Question Id : 9380664705 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I
Term/Doctrine

LIST-II
Opinion

Collective term for intention and

A | Jus Necessitatis I
recklessness
B.|Malice II. | Two forms of Mensrea
Two alternative conditions of Penal
C.|Dolus and Culpa I1I. Eishiy
5 atemfionand Nesiisencs v Right of the man to do from which he

cannot be dissuaded

Choose the correct answer from the options given below:

1. A-IV, B-I, C-II, D-III
2. A-III, B-11, C-IV, D-1
3. A1 B-IV, C-III, D-II
4. A-11, B-III, C-1, D-IV

Options :

93806618313. 1
93806618314. 2
93806618315. 3
93806618316. 4




Question Number : 129 Question Id : 9380664705 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

= ;
K28 =

A. [T RRfew I |M7=r 3R ATRATE! & forg Wgad UG

B.| Ao (3W) 1L | 3RS HA9:FRUfd & &l UHR

. g [FTRE aIRiE (@us wlelt i) &t ol
Al D1 dg DI B B UBR

D. |3 UUS %oy (HTEHT 3R SUem)  [1V: | ford 39 72 &l Udhed - & falg
T ol Gl ©

i< 14U U [qd el § U Ul 3Tk &1 94 Dol -

1. A-IV, B-1, C-I1, D-III
2. A-IIL B-11, C-IV, D-1
3. A1, B-1IV, C-II1, D-II
4. A-II, B-1I1, C-1, D-IV

Options :

93806618313. 1

93806618314. 2

93806618315. 3

93806618316. 4



Question Number : 130 Question Id : 9380664706 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT

Maxim Meaning
A.|Erga Omnes I. |Relation to all
B.|Jus Cogens II. |Peremptory norm
C.|Pacta Sunt Servanda III. | Agreements are to be respected

¥ x Essential circumstances remain
D.|Rebus Sic Stantibus Iv.
unchanged

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I
2. A-III, B-1V, C-I1, D-1
3. A-1, B-1I, C-III, D-IV
4. A-I11, B-1, C-II, D-IV

Options :

93806618317. 1
93806618318. 2
93806618319. 3
93806618320. 4



Question Number : 130 Question Id : 9380664706 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Y11 &1 e sifse:
= L
A.|3nf 3igyg L |9y & a1y ey
B.| 579 $Hiol-g II. [gd-fHaR® ufqar
C.|UdeT Y gdua] 1L | BRI BT GHH bal SIH1 d1igu
D. 399 i LSl o X IRt it 1 et o1
Wl g
+d faT 71U fddredl § U Ul IR &1 98- Difold :

1. A-IV, B-III, C-II, D-I
2. A-IIL, B-1IV, C-I1, D-1
3. A-1, B-11, C-IIL, D-1IV
4. A-III, B-1, C-1IL, D-IV

Options :

93806618317. 1

93806618318. 2

93806618319. 3

93806618320. 4




Question Number : 131 Question Id : 9380664707 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
Judicial Decisions Issue
State of Gujarat v/s Reliance Industries
A Itd & Ors I. |Management of sewage treatment plants

Municipal Corporation Ghaziabad v/s

Central Pollution Control Board II. | Climate Change

Environmental Clearance for large

C.|Hanuman Laxman Aroskar v/s U.O.1 I1T. -,

D.|Riddhima Pandey v/s U.O.1 IV. [Green cess

Choose the correct answer from the options given below:

1. A-III, B-1, C-IV, D-II
2. A1, B-IV, C-1II, D-II
3. A-IV, B-1, C-II1, D-IT
4. A-III, B-II, C-IV, D-1

Options :

93806618321. 1
93806618322. 2
93806618323. 3
93806618324. 4



Question Number : 131 Question Id : 9380664707 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

mﬁaﬁ%m -‘g:l];[
- ggm oy &1 ey 31 fer. ud T DU
B. %wgg'q SHIH gt 1L | STeiarg uRadH
C.| g T&HUT SRR &1 YR ¥ [ 111 ES%Q%%WW$W
D.|RIGH Uie §91 YRd U9 1v. | gfd SuHR @ T
i< 14U U [qd el § U Ul 3Tk &1 94 Dol -

1. A-IIL B-1, C-IV, D-II
2. A-1, B-1V, C-111, D-II
3. A-IV, B-1, C-III, D-II
4. A-1I1, B-II, C-1IV, D-1

Options :

93806618321. 1

93806618322. 2

93806618323. 3

93806618324. 4



Question Number : 132 Question Id : 9380664708 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-1 LIST-II
Profounder Idea
A.|Mimansa I. |Law and Morals are same
B.| Smriti II. | “Idea of Values™ is the foundation
3 : Law derives authority from State and not
C.|Post Reformation Europe ITI. =
morals
There is distinction between obligato
D.|Korknov IV. gatory

and recommendatory rules

Choose the correct answer from the options given below:

1. A-IV, B-1, C-III, D-II
2. AL B-1II, C-1, D-IV
3. A-IIL, B-1V, C-II, D-1
4. A-1, B-11, C-1IV, D-III

Options :

93806618325. 1

93806618326. 2

93806618327. 3

93806618328. 4




Question Number : 132 Question Id : 9380664708 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

= =
A. |t I |faf 3R Afas Rigid gl T |
B.|Sqfar 11 | g &1 faR” YellUR |
C. | gURardl g L. gﬁ%ﬂmﬁ %%‘}%amwaﬂ%q
b | - gﬂmgﬁah?mmﬁﬂﬁﬁﬁﬂa
i TaU U fdded! # U Ul 3R &1 98- Difelu -

1. ATV, B-I, C-III, D-II
2. A-II, B-TII, C-1, D-IV
3. AIIL B-IV, C-IL, D-I
4. A-1, B-II, C-IV, D-TII

Options :

93806618325. 1
93806618326. 2
93806618327. 3
93806618328. 4




Question Number : 133 Question Id : 9380664709 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LISTI LIST-II
Exception to Sec.300 of IPC Exception Number

A.|Sudden and grave provocation I. |Exception 5
B. | Exceeding right of private defence II. | Exception I
C.|Death caused in sudden fight II1. | Exception 4

Death caused with the consent of the .
D. IV.|Exception 2

person

Choose the correct answer from the options given below:

1. A-1, B-1I, C-1II, D-IV
2. A-II, B-1V, C-1I1, D-1
3. Al B-1IV, C-1, D-IIT
4. A-1V, B-I1, C-1I, D-1

Options :

93806618329. 1
93806618330. 2
93806618331. 3
93806618332. 4

Question Number : 133 Question Id : 9380664709 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i1 & 1Y Y11 DT e Sifeie:

YR gUe Sfgdm T:b“f_irm 300 T SUATG Gruﬁﬁﬂﬁ.
A. | BT 3R THR UDIya L | 3(Udlg-5
B. | Il UfcRen & SifeRr I W IL. | 3{UdTe-1
C.| AP ISl H BRI JY IIT. | 3YdTe-4
D. | fdd ! Ggdfd 9 w1kd g IV. | 3[Udrg-2
Id fau ¢ fadedl & T Ugl SR &I 98- BT ;

1. A-I, B-1I, C-III, D-IV
2. A-11, B-1V, C-111, D-1
3. A-IL, B-IV, C-1, D-TII
4. A-1IV, B-11I, C-11, D-1

Options :

93806618329. 1

93806618330. 2

93806618331. 3

93806618332. 4



Question Number : 134 Question Id : 9380664710 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LIST-1 LIST-IT
Position of Directors Case laws
A.|Directors as ‘Agents’ I. |Ferguson v/s Wilson

R.R. Kothandraman v/s Commr. of

B. | Directors as ‘Employees 1I. iconis Tak

C.|Directors as ‘Trustees’ III. | Great Eastern Rly. Co. v/s Turner

D.|Directors in a “Fiduciary relationship’ IV. | Forest of Dean Coal Mining Co. Re

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I
2. A-IIL, B-1, C-IV, D-II
3. AL, B-1I, C-III, D-IV
4. A-II, B-1IV, C-1, D-III

Options :

93806618333. 1
93806618334. 2
93806618335. 3
93806618336. 4



Question Number : 134 Question Id : 9380664710 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y GEl-11 BT T Hifoie:

A.|Tofe & =0 FeRd L (W 994 facq
B.| i % =0 P o ISTRAUT SF1H SR
C.| Rt & U H ez 111 {3 $% Yeid . F1H &R
e . o B G SH pld e &
A H
i TaU U fdded! # U Ul 3R &1 98- Difelu -

1. A-TV, B-IIL, C-IL, D-I
2. AL B-1, C-IV, D-TI
3. A-1, B-II, C-III, D-IV
4. A-IL, B-IV, C-1, D-TII

Options :

93806618333. 1
93806618334. 2
93806618335. 3
93806618336. 4




Question Number : 135 Question Id : 9380664711 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I LIST-I1
Authors/ Editors Title of Books
A.|Rainer Arnold I. |International Humanitarian Law
B.|Vandana Shiva II. | The Universalism of Human Rights
¢ |1 enzerini Federico I B:loplracy: The Plunder of Nature &
Knowledge
D.|Emily Crowford & Alison Pert IV.|The Culturalisation of Human Right Law

Choose the correct answer from the options given below:

1. A-II, B-1II, C-1V, D-1
2. A-1, B-1I, C-1I1, D-IV
3. A1l B-1, C-IV, D-III
4. A-1V, B-1I1, C-1, D-II

Options :

93806618337. 1
93806618338. 2
93806618339. 3
93806618340. 4



Question Number : 135 Question Id : 9380664711 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

A IR 3l I |Ee3Hd ggaHe e ol

B. | deT fRmar I1. | g gHqdfesT 31 gga- A3y

o | 33T traha P Wﬁ{}ldlqmiﬂl: ¢ s Wﬁa—\r@g

D. | UfHIfe hIt!S uus ufer ud IV. | HedRalgeiRH 3% ggu- gy dl

+d faU 1T fddedl § U Ul IR &1 98- Difold :

1. A-II, B-III, C-IV, D-I
2. A-1, B-1I, C-1II, D-1IV
3. A, B-1, C-IV, D-III

4. A-1IV, B-11I1, C-I,
Options :
93806618337. 1
93806618338. 2
93806618339. 3
93806618340. 4

D-II




Question Number : 136 Question Id : 9380664712 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I

Schedules under UCC of Uttrakhand, 2025

LIST-II
Topic dealt under the Schedule

A.|Schedule 3 I. |form of probate

B.|Schedule 7 II. |form of certificate

C.|Schedule 5 II1. | form of caveat

D | schedule 4 v form of certificate and extended

certificate

Choose the correct answer from the options given below:

1. A-II, B-IV, C-1, D-III
2. A-1, B-1I, C-1I1, D-1IV
3. A-IV, B-1II, C-II, D-1
4. A-11, B-1, C-1IV, D-III

Options :

93806618341. 1
93806618342. 2
93806618343. 3
93806618344. 4




Question Number : 136 Question Id : 9380664712 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

i 5i|
A.| 3yl 3 L |Ul§c 6T URSY
B. W? II. [YHIV-OH ] U=
C.| 33yl 5 1L | HfdUe BT UR=T
| AL 3R AR YA T &
D.| 3 Igdl 4 IV orets
- fou 7T fadedl # 9 HEl SR BT 99 Hifvie -

1. A-II, B-IV, C-1, D-III
2. AL, B-1I, C-III, D-IV
3. A-IV, B-1II, C-II, D-1
4. A-I1, B-1, C-IV, D-III

Options :

93806618341. 1

93806618342. 2

93806618343. 3

93806618344. 4



Question Number : 137 Question Id : 9380664713 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LISTI LIST-II
Type of IPR Concept
A.| Geographical Indication I. |Post grant opposition
B.| Trademark IL. E:’(f}cfig;?irﬁﬁ%?}t Management
C.|Patent II1. | Prohibition of Assignment
D.|Copyright IV. | Honest Concurrent use

Choose the correct answer from the options given below:

1. A-1, B-1V, C-III, D-1I
2. A, B-1V, C-1, D-II
3. A1 B, C-IV, D-1
4. A-11, B-1IV, C-1, D-III

Options :

93806618345. 1
93806618346. 2
93806618347. 3
93806618348. 4




Question Number : 137 Question Id : 9380664713 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

Trt1 T
A. | HINTIfI SueRi I |erger/dipid fore & d1g faxiy
B.|AMUR 4§ (dSHID) IL mwaﬁ(mm%)w
c.|ude II1. | 3G BT ufaue
D. |UlARE SR (BIURIES) IV. | SHHGR YHdd SUGRT/YART

+d faU 1T fddedl & U Ul IR &1 94+ DifolT ;

1. A-I, B-IV, C-TII, D-TI
2. A-IIL, B-1V, C-1, D-II
3. A1 B-III, C-IV, DI
4. A-II, B-IV, C-1, D-TII

Options :

93806618345. 1
93806618346. 2
93806618347. 3
93806618348. 4

Question Number : 138 Question Id : 9380664714 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LISTI LIST-IT

Jurist Statement/Opinion
A.[Montesquie I. |Comparative Constitution is strange
B.|Lee II. [Used the term - Rechtsvergleichung
C.|Rudolph and Schlesinger IT1. | Published ‘Ancient Law’ in 1861
D.|Maine IV.|Father of Comparative Law

Choose the correct answer from the options given below:

1. A-1, B-II, C-III, D-IV
2. A-I1, B-1II, C-IV, D-I
3. A-IIL B-1V, C-1. D-II
4. A-1V, B-1, C-1I, D-III

Options :

93806618349. 1

93806618350. 2

93806618351. 3

93806618352 4




Question Number : 138 Question Id : 9380664714 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl -ax &l e i

i
ﬁﬁﬁﬁ%ﬂﬁm

LI
PYUAHT

A.|TidTy

oI Gfaem fa= g |

S5+ YdexaRictdil g ol WAl fddl

B.|dil I o)
; S5 9 1861 T UrdH fafY ERyue o)
C.|F3Sleh UUS WrifTR I1L. T TR )|
D.[7H IV. [JeTdTs fafe & S
d faU 1T fddedl H U Ul 3R &1 98- Difolu ;

l. AL, B-II, C-III, D-IV
2. AL, B-III, C-IV, D-I
3. A-IIL, B-IV, C-1, D-II
4. AV, B-1, C-II, D-TII

Options :

93806618349. 1
93806618350. 2
93806618351. 3
93806618352. 4




Question Number : 139 Question Id : 9380664715 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I

Jurists

LIST-II
Definition of Administrative Law

A.| Wade

Administrative Law is the law relating to
the administration. It determines the
organization, powers and duties of
administrative authorities.

B.| Garner

IL.

Main object of administrative law is the
operation and control of administrative
authorities.

C.| Gritfith & Street

III.

Rules recognized by the courts as law
and which relate to and regulate the
administration of government.

D.|Ivor Jennings

IV.

Law relating to the control of
government power.

Choose the correct answer from the options given below:

1. AL B-II, C-III, D-IV
2. AL, B-1, C-IV, D-TII
3. AL B-1V, C-I, D-II
4. A-IV, B-II, C-IL, DI

Options :

93806618353. 1
93806618354. 2
93806618355. 3
93806618356. 4




Question Number : 139 Question Id : 9380664715 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

UL fafY U= O ddfed g
o[ 1 SqH GITaH YT U gTidaTiai
' © | Widaat 3R 3d BHicd BT YR
GIGIE
B e [ | R fafé @1 e S yRIehe
| | ¥Rl &1 e iR aFr g
el gR1 fdfY & =9 # 74
C. |Hifthy tug e 1L | FArTd el qT o SRR & J=irg-
CARGIEREE IR
b.| s I . waﬁmﬁ%ﬁﬁwﬁwm
1 feu U f[adeul & O U8l 3R &1 98- SIS

1. A-I, B-II, C-III, D-IV
2. A-11, B-1, C-IV, D-III
3. AL B-1IV, C-1, D-II
4, A-IV, B-II1, C-II, D-1

Options :

93806618353. 1

93806618354. 2

93806618355. 3

93806618356. 4




Question Number : 140 Question Id : 9380664716 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LISTI LIST-II
Heirs Succession Categories
A.|Paternal Aunt's Son I. |Class II
B.|Daughter's Son's daughter II. |Cognate
C.|Paternal Uncle's daughter III. [Class I
D.|Daughter of a predeceased Son IV. | Agnate

Choose the correct answer from the options given below:

1. A-I, B-III, C-II, D-IV
2. A-11, B-1, C-IV, D-III
3. A-Il, B-IV, C-1, D-III
4. A-1, B-11, C-111, D-IV

Options :

93806618357. 1

93806618358. 2

93806618359. 3

93806618360. 4

Question Number : 140 Question Id : 9380664716 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 91y Gl ol e difsre:

s o
ITRIUPR DI A0ft
A | DT I (gl (gt 4of)
B. (G & g &I Gl I1. | Yol
C. |araara & g IIL | .1 (U 9of)
D. [gdd YA &I Tl IV. |77
I e T fad et Hf ¥ el SR &1 I8 DI -

1. A-I, B-III, C-1II, D-1IV
2. A-11, B-1, C-IV, D-III
3.A-IL B-1V, C-1, D-III
4. A-1, B-1I, C-I1I, D-1IV

Options :

93806618357. 1

93806618358. 2

93806618359. 3

93806618360. 4

Sub-Section Number : 2



Sub-Section Id : 938066191
Question Shuffling Allowed : No



Question Id : 9380664717 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Read the following passage and answer the questions:

Under English Law, ‘Transsexual’ cannot marry a partner of his or her original sex because sex
was declared at birth and could not be changed by artificial intervention. Marriage could be
entered into by one man and women only. In 2002, European Court of Human Rights declared
that United Kingdom was in breach of Articles 8 and 12 of European Convention for failing to
recognize transsexual’s new gender. House of Lords declared in case of Bellinger v/s Bellinger
that S 11 (c) of Matrimonial Causes Act, 1973 was incompatible with the Convention. The
Legislature addressed this situation with Gender Recognition Act, 2004. This provided that
transsexual over the age of 18 fulfilling medical criterion, living in other gender, or have changed
their gender under law of an approved country can apply for gender recognition certificate. This
will provide legal status necessary for acquired gender to marry a partner of transsexual’s former
sex. However, where the respondent was person of acquired gender prior to marriage, such a
marriage is still voidable.

Sub questions

Question Number : 141 Question Id : 9380664718 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Which 1s not correct about the traditional notion “transsexuals’?

1. Under traditional notion, transsexual enjoved full legal status.
2. They could not marry a partner of their original sex.
3. Sex could not be changed by artificial intervension.
4. Marriage was valid between one man and one women only.
Options :
93806618361. 1
93806618362. 2
93806618363. 3
93806618364. 4

Question Number : 142 Question Id : 9380664719 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which section of Matrimonial causes Act, 1973 was incompatible with European Convention?

1.11 {¢)
2. 12 (a)
3.11(g)
4.1 (c)
Options :
93806618365. 1
93806618366. 2
93806618367. 3
93806618368. 4

Question Number : 143 Question Id : 9380664720 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Gender Recognition Act came up in which year?

1.2002
2. 2003
3.1994
4. 2004
Options :
93806618369.
93806618370.
93806618371.
93806618372.

AW N =

Question Number : 144 Question Id : 9380664721 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Failing to recognise new gender of a transsexual is contravention of which Articles of European
Convention?

1. Article 8 and 12
2. Article 9 and 11
3. Article 1 and 2

4, Article 11 and 8

Options :

93806618373. 1
93806618374. 2
93806618375. 3
93806618376. 4

Question Number : 145 Question Id : 9380664722 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which document provided legal status to acquired gender?

1. Order of Court
2. Declaration by Crown
3. Regulation 1 of European Convention
4. Gender Recognition Certificate
Options :
93806618377. 1
93806618378. 2
93806618379. 3
93806618380. 4



Question Id : 9380664717 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

frafafEd i o aFyde ufee ik vy & sw .-

7S DI Ay & Sl “URd TS ik 3= g i & ! i 9 f9aT8 =18l ) Ghdl
© i feiTT 1 =INUN UgadhId (S & 9H) g gl Ts 41 3R $iHd WeHl 9 39 uikdfdd
ol fhdl I Yabdl g | fadIg ddd U Y=Y 3R Uh Afgell & o9 g1 gl hdl o1 98 2002 T
PRIUT AHATSR ATy = 9y & f gAreds fbisH &1 URdi e Afdddl &l U Sfs
& =0 T 7Rl A1 1 GRIUTE SEg & siqwda s 3R 3fwda 12 BT Jadd g g3y 3iih
AlgY 9 AR a9 dfiTR & Whvor § 9o &1 foh faarg-favas arg sfefad, 1973 &1
4RI 11(T) MUY & EU gl g | fauider 4 g9 f&yfd &1 FRieu Sie A1l
ARG, 2004 & T1eHT Y {11 SIS ARG UG, 2004 T IUEY fban 741 fds 18 99 Dt
3G U HW & URdd Guif Al S i A DI R HRA ¢, A AR AT W ©
31yd fbfl Wi d (SHIGd) <=1 bl Ugd [ & 31efi- 3uH1 Sisr uRafdd &l g, 4 ofsr
AT YHIV-U & [o1U 3fide URdd - & U 8 | 39D By Sis? 3fSid & drd
Al o1 37ufgrd faf¥e guif ured ghn difd 4 R oafdd & Ydadf fe dred oufad 9
fadre &R U1l | 9Ty, afe welf faare 9 ud Sifoid SIS &1 i gl df 99 <= o Hdfed
fadrg arul ot ISl ghm|

Sub questions

Question Number : 141 Question Id : 9380664718 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IR ® Afkid! Bl TRURAT YRU & dR § FHfRad § W &IH 91 &y TTe0d o

1. URURS YR & 3fdiid YR ID Aidadl &1 guf faftid qoil U 41|
2. d 30 4o &1 & i  fadrg =181 &R Uahd U
3. DAY FieH! 9 fei uRdd 381 fbar S g Uil

4. 9918 Hdd Udh G=Y 3R U Higal & &1 ol fafemrg o1

Options :

93806618361. 1
93806618362. 2
93806618363. 3
93806618364. 4

Question Number : 142 Question Id : 9380664719 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fqarg-favgd drg T, 1973 B B! 4RI IRIY 6 TWURT & =0 =g &l

1. §RT 11 ()
2. YR 12 (&)
3. YRT 11 ()
4. YR 1 (T

Options :
93806618365. 1



93806618366. 2
93806618367. 3
93806618368. 4

Question Number : 143 Question Id : 9380664720 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SleX A AHffaH feg g uadq | 3

1.9 2002
2. 9Y 2003
3. 9Y 1994

4.9Y 2004
Options :
93806618369. 1
93806618370. 2
93806618371. 3
93806618372. 4

Question Number : 144 Question Id : 9380664721 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

URcd oAfdddl & U SIeR dl H1=dl o $i fabedl JRIY & EEd & by si=g dI
Jeeig YUI?

1. 3[g=9¢ 8 3R 12
2. 3G 9 AR 11
3. 3 =8¢ 1 3R 2
4. TG 11 3R 8

Options :

93806618373. 1
93806618374. 2
93806618375. 3
93806618376. 4

Question Number : 145 Question Id : 9380664722 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRed o U foy gy ¥ 3ifsid Sier & fafers g urd gaim

1. 1T &1 3M1e
2. I3 B 9N U
3. PRI gy ol fafaygH-1

4. S AT UHTOT O
Options :
93806618377. 1
93806618378. 2
93806618379. 3



93806618380. 4

Sub-Section Number : 3
Sub-Section Id : 938066192
Question Shuffling Allowed : No



Question Id : 9380664723 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Read the following passage and answer the questions:

Moral rights first became part of the international system with their inclusion in the Berne
Convention, which was established during the 1928 revision conference in Rome. The text has
been subject to amendment only twice in 1948, at the Brussels revision conference of the Berne
Convention, and again, at the landmark Stockholm conference of 1967. It is telling that the
amendments did not introduce substantial change into the provisions, unless it was to reduce their
scope. Their focus, rather was on clarifying limitations on moral rights which previous
generations of negotiators may well have taken for granted as built into the system.

Sub questions

Question Number : 146 Question Id : 9380664724 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following brought clarification on limitation on moral rights?

1. Rome Conference
2. Brussels Revision Conference alone
3. Both Brussels Revision Conference and Stockholm Conference
4. Stockholm Conference alone
Options :
93806618381. 1
93806618382. 2
93806618383. 3
93806618384. 4

Question Number : 147 Question Id : 9380664725 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 15 not correct about Rome Revision Conference, 19287

1. It incorporated moral rights into Berne Convention
2. The text on moral rights introduced by 1928 Revision has never undergone any amendments
3. The focus on stockholm conference was not to nullify the moral rights introduced by Rome
Conference
4. The Brussels Revision Conference brought first amendment to the text of moral rights
inserted by Rome Conference
Options :
93806618385. 1
93806618386. 2
93806618387. 3
93806618388. 4

Question Number : 148 Question Id : 9380664726 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which is true about moral rights?

1. The 1948 and 1967 amendments enlarged the scope of moral rights
2. The Brussels revision conference and the stockholm conference clarified limitations on
moral rights
3. The Brussels and Stockholm amendments brought substantial changes in the realm of moral
rights
4. The original Berne convention text itself carried provisions on moral rights
Options :
93806618389. 1
93806618390. 2
93806618391. 3
93806618392. 4

Question Number : 149 Question Id : 9380664727 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which international legal instrument incorporate the provision for protection of moral rights?

1. Stockholm Convention
2. Brussels Convention
3. Berne Convention
4. Rome Convention
Options :
93806618393. 1
93806618394. 2
93806618395.3
93806618396. 4

Question Number : 150 Question Id : 9380664728 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which year ‘moral rights’ were first introduced into the international system?

1. 1967
2.1928
3. 1886
4. 1948
Options :
93806618397.
93806618398.
93806618399.
93806618400.

B N S



Question Id : 9380664723 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Frafafed i o aFyde ufee ik vy & sw .-

e ISR FAUUH o HTHT | M fbT o P Boae U =RIAPY AT S 34
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Sub questions

Question Number : 146 Question Id : 9380664724 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad o U fhud Bewaey Afde USRI Y Ydfta TR &1 WEH g3

1. 39 g

2. Dad S GALIE0T e

3. U TR0 T 3R TidheH THad Gl
4. Dad KibgH YT

Options :

93806618381. 1
93806618382. 2
93806618383. 3
93806618384. 4

Question Number : 147 Question Id : 9380664725 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT H Y 1928 T IS GARIE0 G & 9R 1 DI 9 DU Tad g2

L. 3UH & YTy H A0 YaRI & Twifgd fdar |
2. 94 1928 & YARIENUN §RT G RIMUT i BRI & ure # w1t Hig e =81

gl

3. T T & & AT GHTH gRT I:R1Ud Afde® R & Ifiad S
gl Tl

4. Y AU G & Beiday JIH Y- gRI Sid-&1fud Afde sifeaRi & ure d
Tl §xe fdbar |

Options :

93806618385. 1
93806618386. 2
93806618387. 3
93806618388. 4



Question Number : 148 Question Id : 9380664726 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Afde AfHRI & IR H FEfaRad 3 J D I U Fg1 62

1. 99 1948 3R 1967 & RN & HeRa=U Hfdd A YBR] BT arRI 531 8l ™1

2. S YU e IR KidhgH Yicd | Afdd HeRT ol aRdani wy o 13|
3. S R Widg ™ I2eHl O Afdd Sif¥eRI & &3 § gd yRad- gu|

4. 9d & HTHT I g1 Hidd SifiaR At Iude i U

Options :

93806618389. 1
93806618390. 2
93806618391. 3
93806618392. 4

Question Number : 149 Question Id : 9380664727 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRaa & 9 9 U [9i4e faiRad d Afde iRl & e Ydsdi IJudtl o gamigd foar
14r:

1. WihgH ATy
2. SO AHHTHY
3. & HIHY
4. 39 ARGy
Options :
93806618393. 1
93806618394. 2
93806618395. 3
93806618396. 4

Question Number : 150 Question Id : 9380664728 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AP APR Bl FATYH SRAPIA IR H ¥ a9 G110 fobar mar 4

1. dY 1967
2.dY 1928
3.dY 1386

4.dY 1948
Options :
93806618397. 1
93806618398. 2
93806618399. 3
93806618400. 4



